SOFTBALL 2022 CAME NOTES

GAME DAY #1 · JULY 29, 2022 · PARKWAY BANK SPORTS COMPLEX (ROSEMONT, ILL.)

GAME #1 • 6 P.M. CT/7 P.M. ET • ESPN2

Captain:......Carrie Eberle

Captain:......Carrie Eberle Facilitator:......Charlotte Morgan

Schedule/Results

July 29 vs. Team Chidester July 30 vs. Team Ocasio July 31 vs. Team Zerkle

TEAM CHIDESTER

Captain:	Amanda Chidester
Facilitator:	Tatum Edwards

Schedule/Results

July 29 vs. Team Eberle July 30 vs. Team Chidester July 31 vs. Team Ocasio

GAME #2 · 8:30 P.M. CT/9:30 P.M. ET · ESPN+

TEAM OCASIO

Captain:......Aleshia Ocasio Facilitator:.....Ellie Cooper

Schedule/Results

July 29 vs. Team Zerkle July 30 vs. Team Eberle July 31 vs. Team Chidester

TEAM ZERKLE

Captain:.....Morgan Zerkle
Facilitator:....Jenn Salling

Schedule/Results

July 29 vs. Team Ocasio July 30 vs. Team Chidester July 31 vs. Team Eberle

NEWS AND NOTES

LET'S GET IT STARTED

The third season of Athletes Unlimited Softball begins on Friday, July 29, with a pair of games at the Parkway Bank Sports Complex. The season opener at 6 p.m. CT features Team Eberle and Team Chidester, while the nightcap between Team Ocasio and Team Zerkle is set for 8:30 p.m. CT.

FRIDAY NIGHT LIGHTS

The first game of Friday's season-opening doubleheader can be seen on ESPN2, while the second game between Team Ocasio and Team Zerkle will be available on ESPN+. **Eric Collins** and **Madison Shipman** will provide the commentary for both of the season-opening contests while **Ci Michel** adds reports from the field with the "Ci Cam."

THE WORLDWIDE LEADER

All 30 games during the 2022 Athletes Unlimited Softball season can be seen on the ESPN family of networks. ESPN, which is also showing Athletes Unlimited Lacrosse on its networks this summer, broadcast 23 of the league's 30 contests during the inaugural 2020 season.

GOING FOR THE GOLD

The 2022 Athletes Unlimited Softball roster includes a pair of previous champions as pitcher **Aleshia Ocasio** won the 2021 Championship Season title before pitcher **Danielle O'Toole** claimed the inaugural AUX Softball championship earlier this summer.

ATHLETES UNLIMITED SEASON-BY-SEASON CHAMPIONS

Season	Player
2020 Softball	Cat Osterman
2021 Volleyball	Jordan Larson
2021 Lacrosse	Taylor Cummings
2021 Softball	Aleshia Ocasio
2022 Basketball	Tianna Hawkins
2022 Volleyball	Bethania De La Cruz
2022 AUX Softball	Danielle O'Toole

FAMILY TIES

Catcher **Taylor Edwards** and her twin sister, Tatum, will team up again during the 2022 Athletes Unlimited Softball season, but are participating in different capacities. While Taylor will be stepping to the plate as an athlete, Tatum is serving as a facilitator this season. The duo played together at Nebraska from 2011-14 and led the Huskers to 163 victories and four NCAA Tournament appearances, including a berth in the 2013 Women's College World Series.

HIT PARADE

Outfielders **Victoria Hayward** and **Haylie McCleney** enter the 2022 Athletes Unlimited Softball season as the active hits leader in Championship Season play. Hayward and McCleney, who begin their third year in Championship Season competition, have each registered 38 hits. The league record stands at 39 hits, which is held by **Jessi Warren**, who played the first two seasons.

VIEW FROM THE TOP

Catcher **Sahvanna Jaquish** begins the 2022 Athletes Unlimited Softball season as the Championship Season career leader in several categories, including home runs (13), runs batted in (27), walks (16) and total bases (78). The former LSU standout also ranks fourth with 3,250 career leaderboard points.

HOW I SPENT MY SUMMER VACATION

A group of 11 Athletes Unlimited Softball players competed at The 2022 World Games in Birmingham, Ala., earlier this summer, representing three of the eight countries in the tournament. Seven players played for Team USA, which claimed the Gold medal, while three others donned Team Canada jerseys. Meanwhile, pitcher **Aleshia Ocasio** was a member of the Puerto Rico squad.

ATHLETES UNLIMITED SOFTBALL AT THE 2022 WORLD GAMES

~	
Athlete	Country
Hannah Flippen	United States
Janae Jefferson	United States
Amanda Lorenz	United States
Haylie McCleney	United States
Dejah Mulipola	United States
Bubba Nickles	United States
Gwen Svekis	United States
Alysen Febrey	Canada
Kelsey Harshman	Canada
Victoria Hayward	Canada
Aleshia Ocasio	Puerto Rico

A NEW BRONX BOMBER?

Catcher **Erika Piancastelli** participated in Major League Baseball's FTX Home Run Derby event in London, England, on July 9, 2022, leading the Yankees to the title. She also earned MVP honors after slugging 15 total home runs over two rounds. The FTX Home Run Derby will also make stops in Seoul and Mexico City later this year.

A SIGN OF THINGS TO COME?

Catcher **Mia Davidson** excelled in two scrimmages last weekend, blasting four home runs while hitting .667 (4-for-6) with six runs scored and six runs batted in. The former Mississippi State star also was hit by a pitch twice in her two appearances and tallied 16 total bases.

DRAFT DOTS: WEEK ONE

- Pitcher Rachel Garcia, who finished in second place on the AUX leaderboard, was
 the first overall pick in Monday's Week One draft ... She was one of three pitchers
 taken in the opening 10 selections.
- AUX champion Danielle O'Toole joined Garcia as a first round selection after being claimed by Team Ocasio with its first choice of the draft (No. 4 overall).
- The first rookie taken was catcher Mia Davidson, who went to Team Eberle with the second overall selection.



ASPIRATION ROUND THE BASES

Aspiration is committed to planting 10 trees for every run scored during the 2022 Athletes Unlimited Softball season.

RUNS SCORED

TREES COMMITTED

0

0



CAUSE AND EFFECT

The Athletes Causes program, powered by Give Lively, will provide funding to charities of the players' choosing equal to 50% of their season bonus and players will have the opportunity to create their own fundraising pages to support the organizations of their choice.

NO.	NAME	CAUSE
00	Rachel Garcia	Women's Sports Foundation
1	Victoria Hayward	Natasha Watley Foundation
2	Sydney Romero	Head and Neck Cancer Living Foundation
3	Danielle O'Toole	Frosted Faces Foundation
4	Amanda Chidester	Natasha Watley Foundation
5	Danielle Gibson	Geaux Teal Ovarian Cancer Research Foundation
6	Shannon Rhodes	Morgan's Message
7	Anissa Urtez	Natasha Watley Foundation
8	Aleshia Ocasio	Pitch In for Baseball & Softball
9	Kiki Stokes-O'Connor	Win for KC
10	Abby Ramirez	Ronald McDonald House Charities - Chicagoland/NW Indiana
11	Aliyah Andrews	Ronald McDonald House Charities - Tampa Bay
12	Taylor Edwards	The Trevor Project
13	Sashel Palacios	Morgan's Message
14	Aly Harrell	Play Like a Girl!
15	Dejah Mulipola	The Trevor Project
17	Haylie Wagner	The 22q Family Foundation
18	Morgan Zerkle	Natasha Watley Foundation
19	Hannah Flippen	Natasha Watley Foundation
20	Caleigh Clifton	Alzheimer's Association
21	Gwen Svekis	It Gets Better Project
22	Odicci Alexander	Natasha Watley Foundation
23	Amanda Lorenz	American Foundation for Suicide Prevention
24	Jazmyn Jackson	Chapter 510
25	Megan Wiggins	Path United
26	Sydney Sherrill	Women's Sports Foundation
27	Sahvanna Jaquish	Geaux Teal Ovarian Cancer Awareness Foundation
28	Haylie McCleney	The Trevor Project
29	Tori Vidales	Books Between Kids - Houston
31	Maggie Balint	Boys and Girls Club of the Golden Triangle
32	Sierra Romero	The Trevor Project
33	Kelsey Harshman	The Pink Fund
34	Erika Piancastelli	Morgan's Message
35	Nicole Rangel-Mendes	Laureus USA
37	DJ Sanders	Boys and Girls Club of the Golden Triangle
40	Alyssa Denham	National PKU Alliance
41	Jordan Roberts	LUV Michael
42	Janae Jefferson	Natasha Watley Foundation
43	Rachel Lewis	Play Like a Girl!
44	Carrie Eberle	The Innocence Project
46	Mia Davidson	Geaux Teal Ovarian Cancer Awareness Center
47	Lilli Piper	American Lung Association
48	Bubba Nickles	Athletes in Action
49	Danielle Watson	Alzheimer's Association
50	Peyton St. George	Morgan's Message
52	Sam Fischer	100 Club of Arizona
54	Hayley Busby	The Trevor Project
55	Alysen Febrey	Play Like a Girl!
60	Mariah Mazon	Morgan's Message
66	Shannon Saile	Natasha Watley Foundation
68	Courtney Gano	Women's Sports Foundation
70	Andrea Filler	Laureus USA
71	Sara Groenewegen	Morgan's Message
72	Rylee Bayless	Lone Survivor Foundation
75	Aubrey Leach	The Pink Fund
77	Sydney Littlejohn Watkins	King Wolf Animal Sanctuary
81	Greta Cecchetti	BEE Daring Foundation
82	Taylor McQuillin	Mia Stokes Foundation
88	Nadia Taylor	RBI Austin
96	Sis Bates	Players for Pits



			2022	2 AT	HLETES UNLIMIT	red softball n	UMERICAL ROST	ER	
NO.	NAME	POS.	HT.	B/T	HOMETOWN	SCHOOL	PRONUNCIATION	INSTAGRAM	TWITTER
00	Rachel Garcia	Р	5-6	R/R	Palmdale, Calif.	UCLA		rachel_00_garcia	raaaccchhheeell
1	Victoria Hayward	OF	5-7	L/L	Mountain View, Calif.	Washington		victoriahay	victoriahayward
2	Sydney Romero	MIF	5-7	R/R	San Diego, Calif.	Oklahoma		sydsyd2	syd_syd2
3	Danielle O'Toole	Р	5-8	R/L	Upland, Calif.	Arizona		OH_TOOLY	OH_TOOLY3
4	Amanda Chidester	CIF	5-9	R/R	Allen Park, Mich.	Michigan	chid-is-turr	chiddy3	chiddy3
5	Danielle Gibson	CIF	6-0	L/R	Murrieta, Calif.	Arkansas		daniellewhorton41	danielleeee41
6	Shannon Rhodes	OF	5-6	R/R	Fort Worth, Texas	Texas		shannonrhodes2	shannonrhodes2
7	Anissa Urtez	MIF	5-8	R/R	Long Beach, Calif.	Utah	uh-knee-suh err-tez	nniiiss	nniiiss_
8	Aleshia Ocasio	P	5-9	L/R	Altamonte, Fla.	Florida	uh-lee-shuh oh-cah-see-oh	aleshiaocasio	aleshiaocasio
9	Kiki Stokes-O'Connor	OF	5-5	L/R	Olathe, Kan.	Nebraska	key-key	kstokes10	kstokes10
							key-key		
10	Abby Ramirez	MIF	5-4	S/R	Chicago, III.	Michigan	ula la a unala	a_ram410	abber410
11	Aliyah Andrews	OF	5-8	L/R	Oldsmar, Fla.	LSU	uh-lee-yah	aliyahandrews	andrews_aliyah
12	Taylor Edwards	С	5-7	R/R	Murrieta, Calif.	Nebraska		tayylayy2	tayedwards212
13	Sashel Palacios	C	5-3	L/R	Chula Vista, Calif.	Arizona State	sah-shell puh-la-cee-os	seashell_13	seashel_13
14	Aly Harrell	CIF	5-7	L/L	Gahanna, Ohio	Marshall	hair-uhl	alyjae_	alyharrell
15	Dejah Mulipola	С	5-8	R/R	Garden Grove, Calif.	Arizona	day-zhuh muhl-ee-pahl-a	dejahmulipola_	dejahmulipola
17	Haylie Wagner	Р	5-7	R/L	Orange, Calif.	Michigan		haywags17	haywags17
18	Morgan Zerkle	OF	5-8	L/R	Milton, W.Va.	Marshall	zir-kle (rhymes with circle)	mzerkleee	mzerkleee
19	Hannah Flippen	MIF	5-4	R/R	Bonita, Calif.	Utah		hannahflippen	hannahflippen
20	Caleigh Clifton	MIF	5-8	R/R	Wayne, Okla.	Oklahoma	kay-lee	caleigh_danielle	caleigh_20
21	Gwen Svekis	С	5-9	R/R	Davie, Fla.	Oregon	suh-veck-iss	gsvekis21	gsvekis21
22	Odicci Alexander	Р	5-7	R/R	Boydton, Va.	James Madison	odd-uh-see	double_seas	2seas
23	Amanda Lorenz	OF	5-5	L/L	Moorpark, Calif.	Florida	lohr-enz	amandalorenz	amandalorenz18
24	Jazmyn Jackson	OF	5-7	L/R	San Jose, Calif.	California		jazmynrenee	jazmynjacksonn
25	Megan Wiggins	OF	5-5	L/R	Winder, Ga.	Georgia		meganwiggins25	themeganwiggin
26	Sydney Sherrill	CIF	5-7	L/R	Moore, Okla.	Florida State		sydneysherrill	sydneysherrilll
27	Sahvanna Jaquish	С	5-7	R/R	Highland, Calif.	LSU	jay-kwish	sjay_27	sahvannajaquish
28	Haylie McCleney	OF	5-4	L/L	Morris, Ala.	Alabama	,,,	hayliemac8	hayliemac8
29	Tori Vidales	CIF	5-5	R/R	La Porte, Texas	Texas A&M	vuh-dal-is	vidalestori	vidalestori
31	Maggie Balint	Р	5-8	R/R	West Grove, Pa.	San Diego State	bal-int (bal rhymes with cal)	maggiebalint	balintmaggie
32	Sierra Romero	MIF	5-5	R/R	Murrieta, Calif.	•	Dai-IIII (Dai IIIyilles Willi Cai)		
						Michigan		sierrajoy32	sierrajoy32
33	Kelsey Harshman	MIF	5-5	L/R	Tucson, Ariz.	Wisconsin	and the state of t	kelseyharshman	kelsey_harshmai
34	Erika Piancastelli	C	5-9	R/R	Modena, Italy	McNeese State	p-aun-cuh-stelli	urka_20	uurka_20
35	Nicole Rangel-Mendes	OF	5-7	L/L	Houston, Texas	Oklahoma		nicole_mendes_	nicole_mendes_
37	DJ Sanders	OF	5-9	R/R	Columbus, Miss.	Oregon		saygeauxdj_	dj_37ss
40	Alyssa Denham	Р	6-1	R/R	Alvin, Texas	Arizona		the_alyssadenham22	denhamalyssa
41	Jordan Roberts	С	5-7	R/R	Live Oak, Fla.	Florida		daily_cup_of_jo_	jordanalyssar14
42	Janae Jefferson	MIF	5-4	L/R	Humble, Texas	Texas	juh-nae	ja_naaeee	janaejefferson4
43	Rachel Lewis	OF	5-6	R/R	Liberty Township, Ohio	Northwestern		rlewis_11	rlewis_11
44	Carrie Eberle	Р	6-0	R/R	Charlotte, N.C.	Oklahoma State	ebb-ur-lee	carrieeberle	carrieeberle
46	Mia Davidson	С	5-5	R/R	Hillsborough, N.C.	Mississippi State		miasky3332	miasky3332
47	Lilli Piper	CIF	5-10	R/R	Norton, Ohio	Ohio State		piperswiper23	piperswiper
48	Bubba Nickles	OF	5-8	R/R	Merced, Calif.	UCLA		bubbanickles	madilyn_nickles
49	Danielle Watson	Р	5-8	R/R	Osceola, Ind.	Florida State		daniellewatson131	daniellew_131
50	Peyton St. George	Р	5-10	R/R	Mechanicsville, Va.	Duke		peytonstgeorge	peytonstg
52	Sam Fischer	CIF	5-11	R/R	Simi Valley, Calif.	Loyola Marymount		samfischer22	samfischer22
54	Hayley Busby	CIF	5-7	R/R	Phoenix, Ariz.	Oklahoma State		hayleybusby17	hayleybusby
55	Alysen Febrey	CIF	5-8	L/L	Peachtree City, Ga.	Oklahoma State	fee-bree	alysenf	alysenfebrey
60	Mariah Mazon	Р	5-10	R/R	Tulare, Calif.	Oregon State	may-zon	mariahmazon	mariahmazon
66	Shannon Saile	Р	5-7	R/R	Tampa, Fla.	Oklahoma	sail	shannonsaile	- IndiamindZOII
									cgano
68	Courtney Gano	CIF	5-9 E 10	R/R	West Covina, Calif.	Washington	gain-oh	courtneygano	cgano8
70	Andrea Filler	MIF	5-10	R/R	Fort Wayne, Ind.	Northwestern	on-dree-auh	andreafiller	andreafiller
71	Sara Groenewegen	P	5-8	R/R	White Rock, B.C., Canada	Minnesota	grown-wagon	saragroe	saragroe
72	Rylee Bayless	OF	5-3	L/R	Kansas City, Mo.	Oklahoma State	rye-lee	rylee_bayless	ms_bayless7
75	Aubrey Leach	MIF	5-4	L/R	The Woodlands, Texas	Tennessee		aubrey_lynne10	aubrey_lynne10
77	Sydney Littlejohn Watkins	Р	6-1	R/R	Rusk, Texas	Alabama		smlittlejohn	slittlejohn28
81	Greta Cecchetti	Р	6-0	R/R	Bollate, Lombardia, Italy	Texas A&M-Corpus Christi		gretacecchetti18	greta_cecchetti
82	Taylor McQuillin	Р	5-8	L/L	Mission Viejo, Calif.	Arizona		taybeezzyy	taybeezzyy
00	Nadia Taylor	CIF	5-8	R/R	Humble, Texas	Texas		njtaylor88	nadiataylor88
88									

52

53

54

55

56

Abby Ramirez (MIF)

Sydney Sherrill (CIF)

Rylee Bayless (OF) Nicole Rangel-Mendes (OF)

Maggie Balint (P)



2022 ATHLETES UNLIMITED SOFTBALL DRAFT RESULTS (BY OVERALL ORDER) **WEEK FIVE** Aleshia Ocasio (P) Captain Captain Amanda Chidester (CIF) Captain Carrie Eberle (P) Captain Morgan Zerkle (OF) Rachel Garcia (P) 1 2 Mia Davidson (C) Anissa Urtez (MIF) 4 Danielle O'Toole (P) Gwen Svekis (C) 5 Haylie McCleney (OF) Hannah Flippen (MIF) Dejah Mulipola (C) 8 9 Sydney Romero (MIF) 10 Haylie Wagner (P) 11 Sierra Romero (MIF) 12 Amanda Lorenz (OF) 13 Janae Jefferson (MIF) Peyton St. George (P) 15 Victoria Hayward (OF) Taylor McQuillin (P) 16 17 Sahvanna Jaquish (C) 18 Sam Fischer (CIF) Erika Piancastelli (C) 19 20 Sis Bates (MIF) Sara Groenewegen (P) 22 Sydney Littlejohn Watkins (P) Odicci Alexander (P) 23 24 Megan Wiggins (OF) 25 Shannon Saile (P) 26 Jazmyn Jackson (OF) 27 Bubba Nickles (OF) 28 Nadia Taylor (CIF) 29 Tori Vidales (CIF) 30 Danielle Watson (P) 31 Alysen Febrey (CIF) 32 Alyssa Denham (P) Andrea Filler (MIF) 33 34 Taylor Edwards (C) Aliyah Andrews (OF) 35 36 Shannon Rhodes (OF) Sashel Palacios (C) 37 38 Aubrey Leach (MIF) 39 Kiki Stokes-O'Connor (OF) 40 Caleigh Clifton (MIF) 41 Lilli Piper (CIF) 42 Kelsey Harshman (MIF) 43 Mariah Mazon (P) 44 Danielle Gibson (CIF) 45 Rachel Lewis (OF) 46 Aly Harrell (CIF) 47 DJ Sanders (CIF) 48 Courtney Gano (CIF) 49 Hayley Busby (CIF) 50 Greta Cecchetti (P) 51 Jordan Roberts (C)



2022 ATHLETES UNLIMITED SOFTBALL DRAFT RESULTS (BY TEAM)

WEEK ONE: JULY 29-31

ROUND	TEAM OCASIO (GOLD)	TEAM CHIDESTER (ORANGE)	TEAM EBERLE (BLUE)	TEAM ZERKLE (PURPLE)
Captain	Aleshia Ocasio (P)	Amanda Chidester (CIF)	Carrie Eberle (P)	Morgan Zerkle (OF)
1	Danielle O'Toole (P)	Anissa Urtez (MIF)	Mia Davidson (C)	Rachel Garcia (P)
2	Gwen Svekis (C)	Haylie McCleney (OF)	Hannah Flippen (MIF)	Dejah Mulipola (C)
3	Amanda Lorenz (OF)	Sierra Romero (MIF)	Haylie Wagner (P)	Sydney Romero (MIF)
4	Janae Jefferson (MIF)	Peyton St. George (P)	Victoria Hayward (OF)	Taylor McQuillin (P)
5	Sis Bates (MIF)	Erika Piancastelli (C)	Sam Fischer (CIF)	Sahvanna Jaquish (C)
6	Sara Groenewegen (P)	Sydney Littlejohn Watkins (P)	Odicci Alexander (P)	Megan Wiggins (OF)
7	Nadia Taylor (CIF)	Bubba Nickles (OF)	Jazmyn Jackson (OF)	Shannon Saile (P)
8	Tori Vidales (CIF)	Danielle Watson (P)	Alysen Febrey (CIF)	Alyssa Denham (P)
9	Shannon Rhodes (OF)	Aliyah Andrews (OF)	Tatum Edwards (C)	Andrea Filler (MIF)
10	Sashel Palacios (C)	Aubrey Leach (MIF)	Kiki Stokes-O'Connor (OF)	Caleigh Clifton (MIF)
11	Danielle Gibson (CIF)	Mariah Mazon (P)	Kelsey Harshman (MIF)	Lilli Piper (CIF)
12	Rachel Lewis (OF)	Aly Harrell (MIF)	DJ Sanders (CIF)	Courtney Gano (CIF)
13	Abby Ramirez (MIF)	Jordan Roberts (C)	Greta Cecchetti (P)	Hayley Busby (CIF)
14	Maggie Balint (P)	Sydney Sherrill (CIF)	Rylee Bayless (OF)	Nicole Rangel-Mendes (OF)

WEEK TWO: AUGUST 5-7

	. O. A. O O O O .			
ROUND	TEAM TBA (GOLD)	TEAM TBA (ORANGE)	TEAM TBA (BLUE)	TEAM TBA (PURPLE)
Captain				
1				
2				
3				
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				

WEEK THREE: AUGUST 12-14

AAEEK ILI	REE: AUGUST 12-14			
ROUND	TEAM TBA (GOLD)	TEAM TBA (ORANGE)	TEAM TBA (BLUE)	TEAM TBA (PURPLE)
Captain				
1				
2				
3				
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				



2022 ATHLETES UNLIMITED SOFTBALL DRAFT RESULTS (BY TEAM)

WEEK FOUR: AUGUST 19-21

ROUND	TEAM TBA (GOLD)	TEAM TBA (ORANGE)	TEAM TBA (BLUE)	TEAM TBA (PURPLE)
Captain				
1				
2				
3				
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				

WEEK FIVE: AUGUST 26-28

ROUND	TEAM TBA (GOLD)	TEAM TBA (ORANGE)	TEAM TBA (BLUE)	TEAM TBA (PURPLE)
Captain				
1				
2				
3				
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				



RANK	CHANGE	NAME	TOTAL PTS	WIN PTS	STAT PTS	MVP PTS
1	0	Ocasio, Aleshia	2096	1040	736	320
2	0	Chidester, Amanda	1714	1140	434	140
3	1	Stewart, Kelsey	1612	1190	362	60
4	-1	Eberle, Carrie	1592	1010	382	200
5	8	Osterman, Cat	1586	870	556	160
6	-1	Zerkle, Morgan	1576	1120	376	80
7	0	Jaquish, Sahvanna	1570	1140	390	40
8	0	Andrews, Aliyah	1510	1200	270	40
9	3	Bates, Sis	1468	1190	258	20
10	-4	Svekis, Gwen	1464	970	354	140
11	3	Lorenz, Amanda	1404	900	364	140
12	-3	McCleney, Haylie	1402	1040	262	100
13	-3	Piper, Lilli	1364	1100	164	100
14	-3	Urtez, Anissa	1354	930	264	160
15	3	Sanders, DJ	1352	1140	112	100
16	4	Vidales, Tori	1336	910	306	120
17	-1	Sanchez, Amanda	1322	970	212	140
18	-3	Wagner, Haylie	1320	1050	210	60
18	-3 7	Denham, Alyssa	1320	990	190	140
18	1	Mulipola, Dejah	1320	970	290	60
21	-2	Roberts, Jordan	1304	1030	214	60
22	-2		1304	1050	170	80
23	-6	Alexander, Odicci	1278	880	318	80
		Piancastelli, Erika				80
24	0	Aguilar, Ali	1226	750	396	
25	-2	Rupp, Randi	1216	1010	146	60
26	3	Taylor, Nadia	1194	990	124	80
27	5	Show, Samantha	1162	1050	112	0
28	-3	Flippen, Hannah	1146	900	226	20
29	7	Clifton, Caleigh	1144	770	294	80
30	3	Warren, Jessi	1138	820	298	20
31	3	Fiser, Amber	1112	1020	72	20
32	-4	Jackson, Jazmyn	1088	900	148	40
33	-6	Moultrie, Michelle	1080	980	100	0
34	-4	Harper, Jessie	1068	990	78	0
35	-4	Vonk, Britt	1054	970	84	0
35	4	Wiggins, Megan	1054	710	284	60
37	4	Pendley, Shelby	1046	960	86	0
38	6	Groenewegen, Sara	1032	780	172	80
39	-4	Newman, Nicole	1024	1010	14	0
40	-2	Hayward, Victoria	1020	650	350	20
41	2	Alvelo, Taran	1014	980	-6	40
42	4	Howe, Morgan	998	900	98	0
43	-6	Munro, Aubree	990	940	50	0
44	-5	McQuillin, Taylor	962	660	182	120
45	2	Ramirez, Abby	940	850	70	20
46	-4	Reed, Janie	936	750	186	0
47	6	Palacios, Sashel	934	660	174	100
48	2	Romero, Sydney	932	810	122	0
49	2	Fischer, Sam	916	760	76	80
50	-5	Gano, Courtney	914	800	114	0
51	-3	Harshman, Kelsey	808	630	178	0
52	-3	Nickles, Bubba	804	630	114	60
53	-3 1					
		Wedl, Kayla	798	760	38	0
54	-2	Edwards, Taylor	764	610	134	20
55	1	Bryan, Ciara	750	740	10	0
56	2	Burroughs, Jessica	694	580	114	0
57	0	Williams, Sami	690	680	10	0
58	-3	O'Toole, Danielle	680	730	-50	0
59	0	Mauga, Katiyana	588	560	28	0
60	0	Snyder, Gina	576	570	6	0



WEEK ONE 372	WEEK TWO	WEEK THREE	WEEK FOUR	WEEK FIVE	TOTAL POINTS
372					TO DALL TO MALE
	372	372	442	538	2,096
250	338	544	374	208	1,714
348	338	198	398	330	1,612
250	186	338	604	214	1,592
490	340	288	98	370	1,586
268	388	280	380	260	1,576
498	292	328	218	234	1,570
418	276	416	170	230	1,510
					1,468
					1,464
					1,404
					1,402
					1,364
					1,354
					1,352
					1,336
					1,322
					1,320
					1,320
					1,320
					1,304
424					1,300
150	406	108	296	318	1,278
276	170	160	416	204	1,226
344	364	72	128	308	1,216
190	230	244	200	330	1,194
90	214	330	300	228	1,162
					1,146
					1,144
					1,138
					1,112
					1,088
					1,080
					1,068
		•			1,054
					1,054
					1,046
					1,032
					1,024
					1,020
					1,014
230	180	218	170	200	998
120	260	220	310	80	990
248	136	462	22	94	962
320	150	80	170	220	940
160	128	78	290	280	936
					934
					932
					916
					914
					808
					804
					798
					764
					750
					694
330	220	50	10	80	690
36	222	32	274	116	680
200	140	150	10	88	588
126	220	140	10	80	576
	490 268 498 418 218 338 164 420 438 158 290 468 130 202 368 240 198 424 150 276 344 190 90 198 144 138 138 198 130 370 140 118 120 346 110 334 236 100 230 120 248 320 160 218 178 98 98 118 99 90 150 330 36 200	490 340 268 388 498 292 418 276 218 260 338 150 164 150 420 376 438 160 158 328 290 234 468 314 130 206 202 218 368 166 240 378 198 304 424 128 150 406 276 170 344 364 190 230 90 214 198 336 144 186 138 386 198 220 130 178 370 250 140 238 118 256 120 180 346 160 110 214 334 130 120 26	490 340 288 268 388 280 498 292 328 418 276 416 218 260 410 338 150 216 164 150 472 420 376 108 438 160 340 158 328 270 290 234 328 468 314 8 130 206 210 202 218 214 368 166 500 240 378 258 198 304 184 424 128 180 150 406 108 276 170 160 344 364 72 190 230 244 90 214 330 198 336 274 144 186 366 <td>490 340 288 98 268 388 280 380 498 292 328 218 418 276 416 170 218 260 410 310 338 150 216 430 164 150 472 308 420 376 108 348 432 160 340 328 158 328 270 450 158 328 270 450 290 234 328 300 468 314 8 248 130 206 210 398 202 218 214 350 368 166 500 48 240 378 258 170 198 304 184 300 424 128 180 384 150 384 150 394 155 406 108 296 276 170 160 416 344 360 72 128 190 230 244 200 90 214 330 300 198 336 366 210 198 336 366 210 198 336 366 210 398 340 424 128 180 384 150 394 1424 128 180 384 150 396 276 170 160 416 344 364 72 128 190 230 244 200 90 214 330 300 198 336 274 20 198 336 188 188 188 198 336 274 20 144 186 366 210 198 336 188 188 198 336 274 20 144 186 366 210 150 370 250 320 144 330 300 198 336 188 188 188 188 198 340 220 234 274 100 200 204 412 152 205 236 318 198 40 100 204 412 152 230 180 290 208 346 160 150 150 170 110 214 82 364 334 130 50 250 330 244 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 336 388 40 118 170 260 280 248 136 462 22 330 180 218 170 178 148 60 366 300 248 334 130 50 250 330 248 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 330 330 20 344 330 300 380 398 346 60 308 398 346 60 308 398 340 398 340 398 340 398 340 398 340 398 340 398 340 398 340 398 340 398 340 399 340 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390</td> <td>490 340 288 98 370 266 266 498 292 328 288 280 380 266 498 292 328 288 218 234 418 234 418 276 416 170 230 330 330 330 330 330 330 330 330 33</td>	490 340 288 98 268 388 280 380 498 292 328 218 418 276 416 170 218 260 410 310 338 150 216 430 164 150 472 308 420 376 108 348 432 160 340 328 158 328 270 450 158 328 270 450 290 234 328 300 468 314 8 248 130 206 210 398 202 218 214 350 368 166 500 48 240 378 258 170 198 304 184 300 424 128 180 384 150 384 150 394 155 406 108 296 276 170 160 416 344 360 72 128 190 230 244 200 90 214 330 300 198 336 366 210 198 336 366 210 198 336 366 210 398 340 424 128 180 384 150 394 1424 128 180 384 150 396 276 170 160 416 344 364 72 128 190 230 244 200 90 214 330 300 198 336 274 20 198 336 188 188 188 198 336 274 20 144 186 366 210 198 336 188 188 198 336 274 20 144 186 366 210 150 370 250 320 144 330 300 198 336 188 188 188 188 198 340 220 234 274 100 200 204 412 152 205 236 318 198 40 100 204 412 152 230 180 290 208 346 160 150 150 170 110 214 82 364 334 130 50 250 330 244 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 336 388 40 118 170 260 280 248 136 462 22 330 180 218 170 178 148 60 366 300 248 334 130 50 250 330 248 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 330 346 160 150 170 110 214 82 364 334 130 50 250 330 330 20 344 330 300 380 398 346 60 308 398 346 60 308 398 340 398 340 398 340 398 340 398 340 398 340 398 340 398 340 398 340 398 340 399 340 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390 390	490 340 288 98 370 266 266 498 292 328 288 280 380 266 498 292 328 288 218 234 418 234 418 276 416 170 230 330 330 330 330 330 330 330 330 33



		2022 A	THLETES UNLIN	MITED SOFTBAL	L SCHEDULE/RE	SULTS	
DATE	GM#	GAME	BROADCAST	TIME/SCORE	MVP 1 (60 PTS)	MVP 2 (40 PTS)	MVP 3 (20 PTS)
July 29	1	Team Eberle vs. Team Chidester	ESPN2	6 p.m. CT			
July 29	2	Team Ocasio vs. Team Zerkle	ESPN+	8:30 p.m. CT			
July 30	3	Team Zerkle vs. Team Chidester	ESPN+	5:30 p.m. CT			
July 30	4	Team Eberle vs. Team Ocasio	ESPN+	8 p.m. CT			
July 31	5	Team Zerkle vs. Team Eberle	ESPN2	6 p.m. CT			
July 31	6	Team Chidester vs. Team Ocasio	ESPN2	8:30 p.m. CT			
Aug. 5	7	Team Blue vs. Team Orange	ESPNU	5:30 p.m. CT			
Aug. 5	8	Team Gold vs. Team Purple	ESPNU	8 p.m. CT			
Aug. 6	9	Team Purple vs. Team Orange	ESPN+	11 a.m. CT			
Aug. 6	10	Team Blue vs. Team Gold	ESPN2	1:30 p.m. CT			
Aug. 7	11	Team Purple vs. Team Blue	ESPN+	1 p.m. CT			
Aug. 7	12	Team Orange vs. Team Gold	ESPN+	3:30 p.m. CT			
Aug. 12	13	Team Blue vs. Team Orange	ESPN+	5:30 p.m. CT			
Aug. 12	14	Team Gold vs. Team Purple	ESPN2	8 p.m. CT			
Aug. 13	15	Team Purple vs. Team Orange	ESPNU	5 p.m. CT			
Aug. 13	16	Team Blue vs. Team Gold	ESPNU	7:30 p.m. CT			
Aug. 14	17	Team Purple vs. Team Blue	ESPN+	4:30 p.m. CT			
Aug. 14	18	Team Orange vs. Team Gold	ESPN+	7 p.m. CT			
Aug. 19	19	Team Blue vs. Team Orange	ESPN+	5:30 p.m. CT			
Aug. 19	20	Team Gold vs. Team Purple	ESPN+	8 p.m. CT			
Aug. 20	21	Team Purple vs. Team Orange	ESPN2	1 p.m. CT			
Aug. 20	22	Team Blue vs. Team Gold	ESPN2	3:30 p.m. CT			
Aug. 21	23	Team Purple vs. Team Blue	ESPN+	1 p.m. CT			
Aug. 21	24	Team Orange vs. Team Gold	ESPN+	3:30 p.m. CT			
Aug. 26	25	Team Blue vs. Team Orange	ESPN+	4:30 p.m. CT			
Aug. 26	26	Team Gold vs. Team Purple	ESPN+	7 p.m. CT			
Aug. 27	27	Team Purple vs. Team Orange	ESPNU	Noon CT			
Aug. 27	28	Team Blue vs. Team Gold	ESPNU	2:30 p.m. CT			
Aug. 28	29	Team Purple vs. Team Blue	ESPN+	1 p.m. CT			
Aug. 28	30	Team Orange vs. Team Gold	ESPN+	3:30 p.m. CT			

2021 ATHLETES UNLIMITED SOFTBALL SCHEDULE/RESULTS									
DATE	GM#	GAME	BROADCAST	TIME/SCORE	MVP 1 (60 PTS)	MVP 2 (40 PTS)	MVP 3 (20 PTS)		
Aug. 28	1	Team Hayward vs. Team Warren	AU Digital Platforms	Hayward, 6-2	DJ Sanders	Aleshia Ocasio	Amanda Chidester		
Aug. 28	2	Team Piancastelli vs. Team Osterman	FS1	Osterman, 3-2	Tori Vidales	Odicci Alexander	Sahvanna Jaquish		
Aug. 29	3	Team Warren vs. Team Piancastelli	FS1	Warren, 3-1	Taylor McQuillin	Sashel Palacios	Carrie Eberle		
Aug. 29	4	Team Osterman vs. Team Hayward	FS1	Osterman, 6-1	Cat Osterman	Aliyah Andrews	Tori Vidales		
Aug. 30	5	Team Piancastelli vs. Team Hayward	FS1	Hayward, 3-2 (8 inn.)	Gwen Svekis	Aleshia Ocasio	Ali Aguilar		
Aug. 30	6	Team Warren vs. Team Osterman	CBS Sports Network	Osterman, 15-2	Lilli Piper	Haylie McCleney	Sahvanna Jaquish		
Sept. 4	7	Team Osterman vs. Team Vidales	AU Digital Platforms	Osterman, 15-1	Morgan Zerkle	Kelsey Stewart	Jessi Warren		
Sept. 4	8	Team Jaquish vs. Team Piper	FS2	Piper, 4-1	Aleshia Ocasio	DJ Sanders	Amanda Sanchez		
Sept. 5	9	Team Piper vs. Team Osterman	CBS Sports Network	Osterman, 6-5	Randi Rupp	Anissa Urtez	Jordan Roberts		
Sept. 5	10	Team Vidales vs. Team Jaquish	FS2	Vidales, 13-5	Haylie McCleney	Erika Piancastelli	Hannah Flippen		
Sept. 6	11	Team Vidales vs. Team Piper	FS1	Vidales, 4-1	Haylie Wagner	Erika Piancastelli	Aleshia Ocasio		
Sept. 6	12	Team Jaquish vs. Team Osterman	CBS Sports Network	Jaquish, 2-0	Riley Sartain-Vaughn	Sara Groenewegen	Amber Fiser		
Sept. 11	13	Team Jaquish vs. Team McCleney	AU Digital Platforms	Jaquish, 14-6	Dejah Mulipola	Bubba Nickles	Amanda Chidester		
Sept. 11	14	Team Osterman vs. Team Ocasio	FS2	Ocasio, 6-2	Amanda Lorenz	Aleshia Ocasio	Taylor Edwards		
Sept. 12	15	Team Ocasio vs. Team McCleney	AU Digital Platforms	Ocasio, 9-3	Caleigh Clifton	Amanda Lorenz	Abby Ramirez		
Sept. 12	16	Team Jaquish vs. Team Osterman	FS2	Jaquish, 5-2 (8 inn.)	Taylor McQuillin	Amanda Chidester	Sis Bates		
Sept. 13	17	Team Ocasio vs. Team Jaquish	FS2	Jaquish, 3-2	Amanda Chidester	Taran Alvelo	Bubba Nickles		
Sept. 13	18	Team McCleney vs. Team Osterman	CBS Sports Network	Osterman, 3-0	Megan Wiggins	Cat Osterman	Sashel Palacios		
Sept. 18	19	Team Osterman vs. Team Jaquish	AU Digital Platforms	Jaquish, 2-0	Alyssa Denham	Tori Vidales	Nadia Taylor		
Sept. 18	20	Team Chidester vs. Team Ocasio	AU Digital Platforms	Chidester, 8-3 (8 inn.)	Anissa Urtez	Sam Fischer	Sara Groeneweger		
Sept. 19	21	Team Ocasio vs. Team Jaquish	FS1	Ocasio, 14-1	Gwen Svekis	Odicci Alexander	Kelsey Stewart		
Sept. 19	22	Team Osterman vs. Team Chidester	FS2	Chidester, 6-1	Carrie Eberle	Anissa Urtez	Morgan Zerkle		
Sept. 20	23	Team Ocasio vs. Team Osterman	FS1	Ocasio, 5-0	Amanda Sanchez	Lilli Piper	Aleshia Ocasio		
Sept. 20	24	Team Jaquish vs. Team Chidester	CBS Sports Network	Chidester, 2-1	Carrie Eberle	Ali Aguilar	Alyssa Denham		
Sept. 25	25	Team Eberle vs. Team Chidester	AU Digital Platforms	Eberle, 5-2	Carrie Eberle	Jordan Roberts	Anissa Urtez		
Sept. 25	26	Team Ocasio vs. Team Jaquish	AU Digital Platforms	Ocasio, 7-1	Aleshia Ocasio	Erika Piancastelli	Jazmyn Jackson		
Sept. 26	27	Team Jaquish vs. Team Chidester	CBS Sports Network	Chidester, 10-8 (9 inn.)	Nadia Taylor	Amanda Lorenz	Sara Groeneweger		
Sept. 26	28	Team Eberle vs. Team Ocasio	FS2	Ocasio, 5-1	Amanda Sanchez	Aleshia Ocasio	Victoria Hayward		
Sept. 27	29	Team Jaquish vs. Team Eberle	FS1	Jaquish, 6-2	Alyssa Denham	Sashel Palacios	Ali Aguilar		
Sept. 27	30	Team Chidester vs. Team Ocasio	CBS Sports Network	Chidester, 3-1	Cat Osterman	Sam Fischer	Caleigh Clifton		



		20)21 <i> </i>	ATHLE	TES	UNLI	MITE	D SC	OFTB	ALL	BATT	ING :	STAT	ISTIC	CS					
PLAYER	LPTS	GP	GS	AVG	OB%	SLG%	AB	R	н	2B	3B	HR	RBI	ВВ	НВР	SO	ТВ	SF	SH	SB
Ocasio, Aleshia	2096	15	13	0.233	0.324	0.300	30	6	7	0	1	0	2	4	0	9	9	0	1	1-2
Chidester, Amanda	1714	15	15	0.413	0.509	0.891	46	12	19	1	0	7	12	9	0	6	41	0	0	0-0
Stewart, Kelsey	1612	15	15	0.375	0.415	0.667	48	11	18	5	0	3	8	1	3	5	32	1	0	0-0
Eberle, Carrie	1592	13	11	0.000	0.000	0.000	2	0	0	0	0	0	0	0	0	0	0	0	0	0-0
Zerkle, Morgan	1576	14	14	0.300	0.321	0.580	50	12	15	2	0	4	14	2	0	10	29	1	1	6-6
Jaquish, Sahvanna	1570	15	14	0.333	0.472	0.714	42	16	14	4	0	4	8	10	1	2	30	0	1	2-2
Andrews, Aliyah	1510	15	15	0.319	0.377	0.383	47	10	15	1	1	0	4	5	0	13	18	1	1	4-4
Bates, Sis	1468	15	15	0.326	0.341	0.488	43	6	14	5	1	0	1	1	0	6	21	0	3	1-1
Svekis, Gwen	1464	15	14	0.347	0.385	0.694	49	8	17	5	0	4	9	3	0	2	34	0	0	0-0
Lorenz, Amanda	1404	15	14	0.235	0.333	0.569	51	10	12	2	0	5	16	8	0	6	29	1	0	0-0
McCleney, Haylie	1402	14	14	0.378	0.420	0.511	45	14	17	3	0	1	6	4	0	6	23	1	1	0-1
Piper, Lilli	1364	14	9	0.212	0.270	0.364	33	3	7	2	0	1	7	3	0	2	12	1	1	0-0
Urtez, Anissa	1354	15	15	0.327	0.364	0.519	52	3	17	5	1	1	15	2	1	4	27	0	0	0-1
Sanders, DJ	1352	11	8	0.077	0.200	0.308	26	3	2	0	0	2	5	3	1	6	8	0	0	0-0
Vidales, Tori	1336	13	13	0.077	0.468	0.650	40	9	15	2	0	3	10	7	0	5	26	0	0	0-0
Sanchez, Amanda	1322	13	10	0.373	0.408	0.643	28	6	8	1	0	3	9	2	2	8	18	0	0	0-0
Mulipola, Dejah	1320	14	13	0.325	0.373	0.625	40	4	13	2	2	2	8	6	0	8	25	0	0	0-0
Roberts, Jordan	1304	13	10	0.320	0.471	0.600	25	3	8	1	0	2	8	7	1	10	15	1	0	0-0
Alexander, Odicci	1300	10	5	0.400	0.400	0.600	5	1	2	1	0	0	0	0	0	10	3	0	0	0-0
Piancastelli, Erika	1278	15	15	0.400	0.400	0.512	43	9	11	2	0	3	10	10	2	4	22	0	1	0-0
,	1276	15	14	0.256	0.416	0.512	43	15	13	4	0	5	12	6	2	11	32	0	1	1-1
Aguilar, Ali	1194	13	10		0.404	0.727		2	6	2	0	1	5	1	2	4	11	0	0	0-0
Taylor, Nadia				0.214			28					-								
Show, Samantha	1162	13	9	0.156	0.206	0.281	32	2 6	5	1	0	1	4 6	1	1	8	9	0	2	0-0
Flippen, Hannah	1146	15	15	0.267	0.365	0.378	45		12	2	0	1	-	5	2	1	17	0	0	2-4
Clifton, Caleigh	1144 1138	15	14 15	0.310	0.420	0.548	42 48	5 6	13 13	4	0	2	6	8	0	5 9	23 24	0	0	0-0
Warren, Jessi		15		0.271	0.345							3	_					-		
Jackson, Jazmyn	1088	13	13	0.235	0.278	0.353	34	5	8	1	0	1	4	2	0	6	12	0	0	2-2
Moultrie, Michelle	1080	14	13	0.158	0.158	0.211	38	2	6	2	0	0	1	0	0	5	8	0	0	2-2
Harper, Jessie	1068	8	6	0.368	0.400	0.368	19	2	7	0	0	0	1	1	0	7	7	0	0	0-0
Vonk, Britt	1054	9	5	0.133	0.263	0.133	15	3	2	0	0	0	1	2	1	3	2	•	0	3-3
Wiggins, Megan	1054	15	14	0.362	0.400	0.511	47	7	17	2	1	1	3	2	1	3	24	0	1	1-1
Pendley, Shelby	1046	14	12	0.211	0.250	0.211	38	3	8	0	0	0	3	2	0	10	8	0	0	0-0
Groenewegen, Sara	1032	5	5	0.167	0.444	0.167	6	0	1	0	0	0	0	1	2	2	1	0	0	0-0
Hayward, Victoria	1020	15	15	0.354	0.407	0.438	48	8	17	4	0	0	2	4	1	4	21	1	2	7-7
Howe, Morgan	998	12	7	0.200	0.231	0.320	25	3	5	0	0	1	3	1	0	4	8	0	1	0-0
Munro, Aubree	990	12	11	0.154	0.154	0.192	26	2	4	1	0	0	2	0	0	7	5	0	0	0-0
Ramirez, Abby	940	9	7	0.158	0.158	0.263	19	1	3	0	1	0	3	0	0	9	5	0	3	0-0
Reed, Janie	936	14	14	0.265	0.306	0.353	34	3	9	3	0	0	3	2	0	7	12	0	4	1-1
Palacios, Sashel	934	14	13	0.206	0.270	0.412	34	4	7	1	0	2	5	2	1	5	14	0	1	0-0
Romero, Sydney	932	15	12	0.220	0.283	0.293	41	1	9	1	1	0	3	1	3	5	12	1	1	0-1
Fischer, Sam	916	13	8	0.115	0.179	0.231	26	3	3	0	0	1	3	2	0	11	6	0	0	0-0
Gano, Courtney	914	14	11	0.176	0.243	0.235	34	2	6	2	0	0	2	3	0	11	8	0	1	0-0
Harshman, Kelsey	808	15	14	0.200	0.294	0.267	45	5	9	0	0	1	3	6	0	9	12	0	0	1-1
Nickles, Bubba	804	9	9	0.192	0.267	0.346	26	3	5	1	0	1	5	3	0	2	9	1	0	0-1
Wedl, Kayla	798	6	5	0.111	0.200	0.111	9	3	1	0	0	0	0	1	0	5	1	0	0	2-2
Edwards, Taylor	764	13	12	0.194	0.256	0.278	36	2	7	3	0	0	1	3	0	5	10	0	1	0-0
Bryan, Ciara	750	2	1	0.333	0.333	0.333	3	7	1	0	0	0	0	0	0	1	1	0	0	0-0
Williams, Sami	690	2	1	0.333	0.333	0.333	3	0	1	0	0	0	0	0	0	0	1	0	0	0-0
Mauga, Katiyana	588	10	2	0.100	0.167	0.100	10	0	1	0	0	0	1	1	0	0	1	1	0	0-0
Sartain-Vaughan, Riley	484	14	10	0.077	0.172	0.077	26	1	2	0	0	0	0	2	1	10	2	0	1	0-0



2021 ATHLETES UNLIMITED SOFTBALL SITUATIONAL HITTING STATISTICS

		Vs. Left			Vs. Right			lunners c			n Bases E			Bases Lo			Leadoff H	
Player	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Reached	Opps.	Pct.
Ali Aguilar	5	16	0.313	9	28	0.321	9	14	0.643	5	30	0.167	0	0	0.000	5	11	0.455
Odicci Alexander	1	2	0.500	1	3	0.333	0	1	0.000	2	4	0.500	0	0	0.000	2	2	1.000
Aliyah Andrews	5	14	0.357	10	33	0.303	5	12	0.417	10	35	0.286	0	0	0.000	11	22	0.500
Sis Bates	2	16	0.125	12	27	0.444	5	12	0.417	9	31	0.290	0	0	0.000	5	10	0.500
Ciara Bryan	0	0	0.000	1	3	0.333	0	0	0.000	1	3	0.333	0	0	0.000	1	2	0.500
Amanda Chidester	3	7	0.429	16	39	0.410	8	15	0.533	11	31	0.355	0	0	0.000	9	15	0.600
Caleigh Clifton	5	12	0.417	8	30	0.267	7	13	0.538	6	29	0.207	1	1	1.000	4	9	0.444
Carrie Eberle	0	0	0.000	0	2	0.000	0	0	0.000	0	2	0.000	0	0	0.000	0	0	0.000
Taylor Edwards	3	10	0.300	4	26	0.154	1	7	0.143	6	29	0.207	0	0	0.000	2	13	0.154
Sam Fischer	0	14	0.000	3	12	0.250	2	5	0.400	1	21	0.048	0	0	0.000	2	7	0.286
Hannah Flippen	1	14	0.071	11	31	0.355	7	10	0.700	5	35	0.143	0	0	0.000	3	10	0.300
Courtney Gano	1	10	0.100	5	24	0.208	3	10	0.300	3	24	0.125	0	0	0.000	1	6	0.167
Sara Groenewegen	0	3	0.000	1	3	0.333	1	2	0.500	0	4	0.000	0	0	0.000	0	1	0.000
Jessie Harper	5	9	0.556	2	10	0.200	4	11	0.364	3	8	0.375	0	0	0.000	2	3	0.667
Kelsey Harshman	0	12	0.000	9	33	0.273	3	14	0.214	6	31	0.194	0	0	0.000	5	10	0.500
Victoria Hayward	1	11	0.091	16	37	0.432	5	11	0.455	12	37	0.324	0	1	0.000	7	15	0.467
Morgan Howe	2	12	0.167	3	13	0.231	2	11	0.182	3	14	0.214	0	0	0.000	3	6	0.500
Jazmyn Jackson	2	12	0.167	6	22	0.273	3	9	0.333	5	25	0.200	0	0	0.000	1	10	0.100
Sahvanna Jaquish	4	12	0.333	10	30	0.333	7	16	0.438	7	26	0.269	0	0	0.000	6	10	0.600
Amanda Lorenz	4	18	0.222	8	33	0.242	6	14	0.429	6	37	0.162	0	0	0.000	7	23	0.304
Katiyana Mauga	0	2	0.000	1	8	0.125	0	3	0.000	1	7	0.143	0	1	0.000	0	0	0.000
Haylie McCleney	7	21	0.333	10	24	0.417	6	16	0.375	11	29	0.379	0	0	0.000	7	14	0.500
Michelle Moultrie	2	15	0.133	4	23	0.174	0	10	0.000	6	28	0.214	0	2	0.000	2	14	0.143
Dejah Mulipola	3	8	0.375	10	32	0.313	4	11	0.364	9	29	0.310	1	1	1.000	2	9	0.222
Aubree Munro	1	6	0.167	3	20	0.150	1	6	0.167	3	20	0.150	0	1	0.000	1	7	0.143
Bubba Nickles	2	4	0.500	3	22	0.136	3	8	0.375	2	18	0.111	0	0	0.000	1	5	0.200
Aleshia Ocasio	1	12	0.083	6	18	0.333	3	6	0.500	4	24	0.167	1	1	1.000	2	5	0.400
Sashel Palacios	4	12	0.333	3	22	0.136	3	9	0.333	4	25	0.160	0	1	0.000	4	9	0.444
Shelby Pendley	2	15	0.133	6	23	0.261	4	11	0.364	4	27	0.148	0	1	0.000	2	12	0.167
Erika Piancastelli	4	18	0.222	7	25	0.280	9	15	0.600	2	28	0.071	2	2	1.000	4	14	0.286
Lilli Piper	2	7	0.286	5	26	0.192	4	10	0.400	3	23	0.130	0	0	0.000	3	10	0.300
Abby Ramirez	2	7	0.286	2	12	0.167	2	5	0.400	2	14	0.143	0	1	0.000	1	3	0.333
Janie Reed	5	15	0.333	4	19	0.211	4	6	0.667	5	28	0.179	0	0	0.000	2	9	0.222
Jordan Roberts	1	6	0.167	7	19	0.368	5	10	0.500	3	15	0.200	0	0	0.000	2	8	0.250
Sydney Romero	3	13	0.231	6	28	0.214	3	12	0.250	6	29	0.207	0	2	0.000	3	7	0.429
Amanda Sanchez	1	8	0.125	7	20	0.350	5	8	0.625	3	20	0.150	0	0	0.000	1	6	0.167
DJ Sanders	1	10	0.100	1	16	0.063	2	7	0.286	0	19	0.000	0	1	0.000	0	4	0.000
Riley Sartain-Vaughan	1	8	0.125	1	18	0.056	1	6	0.167	1	20	0.050	0	1	0.000	1	4	0.250
Samantha Show	2	11	0.182	2	21	0.095	2	8	0.250	2	24	0.083	1	1	1.000	1	3	0.333
Kelsey Stewart	9	22	0.409	9	26	0.346	7	13	0.538	11	35	0.314	0	0	0.000	2	5	0.400
Gwen Svekis	6	22	0.273	11	27	0.407	9	16	0.563	8	33	0.242	0	1	0.000	5	15	0.333
Nadia Taylor	3	14	0.214	3	14	0.214	4	10	0.400	2	18	0.111	0	0	0.000	0	4	0.000
Anissa Urtez	5	14	0.357	12	38	0.316	13	25	0.520	4	27	0.148	3	3	1.000	2	5	0.400
Tori Vidales	5	13	0.385	10	27	0.370	10	17	0.588	5	23	0.217	1	1	1.000	3	7	0.429
Britt Vonk	2	8	0.250	0	7	0.000	0	4	0.000	2	11	0.182	0	1	0.000	2	5	0.400
Jessi Warren	5	10	0.500	8	38	0.211	3	14	0.000	10	34	0.182	0	0	0.000	9	16	0.563
Kayla Wedl	0	2	0.000	1	7	0.143	0	3	0.000	1	6	0.294	0	1	0.000	1	3	0.333
Megan Wiggins	4	18	0.000	13	29	0.143	4	14	0.286	13	33	0.394	0	0	0.000	2	10	0.200
Sami Williams	1	1	1.000	0	2	0.000	1	1	1.000	0	2	0.000	0	0	0.000	0	1	0.000
Morgan Zerkle	6	19	0.316	9	31	0.290	9	14	0.643	6	36	0.000	1	2	0.500	3	12	0.250
worgan zerkie	ь	19	0.310	9	31	0.290	9	14	0.043	0	30	0.167	1	2	0.500	3	12	0.250



2021 ATHLETES UNLIMITED SOFTBALL SITUATIONAL HITTING STATISTICS

Professor Prof																		
Mayoushigh			nch Hitti	ing	Runner		ing Pos.	Runner	on 3rd &	LT 2 Outs		Two Outs		Success	Advancing	Runners		
Sect Almontener 1	Player	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Adv.	Ops.	Pct.	2-Out RBI	
Math Accesses	Ali Aguilar	0	0	0.000	4	7	0.571	1	3	0.333		10	0.300	14	18	0.778	3	
Seminane Control Con	Odicci Alexander	0	1	0.000	0	0	0.000	0	0	0.000	1	3	0.333	0	1	0.000	0	0
Class Symbol Clas	Aliyah Andrews	0	0	0.000	5	8	0.625	2	2	1.000	2	12	0.167	9	14	0.643	1	-
Manufact	Sis Bates	0	0	0.000	2	5	0.400	1	1	1.000	4	14	0.286	15	16	0.938	0	7
Cheelpected Control	Ciara Bryan	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0.000	0	0
Chrise Elbriers	Amanda Chidester	0	0	0.000	2	4	0.500	0	2	0.000	4	13	0.308	13	18	0.722	3	3
Table Sementacing 1	Caleigh Clifton																	
Semistache	Carrie Eberle	0	0	0.000	0	0	0.000	0	0	0.000	0	2	0.000	0	0	0.000	0	0
Henden Pipper No. N	Taylor Edwards	1	1	1.000	1	2	0.500	0	0	0.000	2	9	0.222	3	9	0.333	0	1
Countrey Game	Sam Fischer	1	4	0.250	1	4		1	1	1.000	0	11	0.000	4	5	0.800	0	2
Same Genemonagem	Hannah Flippen	0	0	0.000	4	6	0.667	1	1	1.000	5	16	0.313	10	13	0.769	4	3
Meshes Mergerine 1	Courtney Gano	1	3	0.333	2	7	0.286	0	0	0.000	2	14	0.143	6	12	0.500	1	1
Keley Harshmanne 0 0 0 0 0000 2 1 7 0 0.266 0 1 1 0.000 0 0 0 0 000 4 1 13 0.267 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Sara Groenewegen	0	1	0.000	0	0	0.000	0	0	0.000	0	2	0.000	3	4	0.750	0	0
Notes Note	Jessie Harper	0	1	0.000	2	5	0.400	1	1	1.000	1	8	0.125	5	11	0.455	0	1
Morgan Horwe	Kelsey Harshman	0	0	0.000	2	7	0.286	0	1	0.000	0	10	0.000	4	15	0.267	0	0
Samyan Jackson 0	Victoria Hayward	0	0	0.000	1	5	0.200	1	1	1.000	4	18	0.222	11	14	0.786	1	6
Sahvama Jaquish	Morgan Howe	0	0	0.000	2	9	0.222	0	0	0.000	2	7	0.286	8	13	0.615	2	2
Amanda Lorenz	Jazmyn Jackson	0	0	0.000	3	6	0.500	0	0	0.000	6	12	0.500	5	9	0.556	4	2
Kethyana Mauga	Sahvanna Jaquish	0	0	0.000	3	6	0.500	1	3	0.333	4	11	0.364	11	19	0.579	2	3
Haylin Michele Moultrie	Amanda Lorenz	0	0	0.000	6	9	0.667	2	3	0.667		11	0.273	12	15	0.800	7	6
Michele Mouthire	Katiyana Mauga	0	6	0.000	0	2	0.000	1	1	1.000	0	4	0.000	2	4	0.500	0	4
Depict Multipolar Depi	Haylie McCleney	0	0	0.000	2	4	0.500	1	1	1.000	4	9	0.444	12	19	0.632	3	8
Aubree Munor 0 0 0.000 1 3 0.333 0 0 0.000 3 9 0.333 1 6 0.167 2 0 Bubba Nickles 0 0 0.000 1 4 0.250 2 2 1.000 3 11 0.273 6 9 0.677 2 2 1 Sashel Palackos 0 1 0.000 1 4 0.250 2 3 0.667 1 9 0.11 8 12 0.500 1 1 8 1 0.500 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1<	Michelle Moultrie	0	0	0.000	0	6	0.000	1	3	0.333	4	7	0.571	2	10	0.200	0	2
Bubba Nickles 0 0 0 0 0000 1 4 4 0.250 2 0 1.000 3 11 0.273 6 9 0.667 2 2 1.000 1 1.000 1 1 2 0.500 1 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.000 1 0.0000 1 0.0000 1 0.000 1 0.0000 1 0.0000 1 0.0000 1 0.0000 1 0.000 1 0.0000 1 0.0000 1 0.0000	Dejah Mulipola	0	0	0.000	4	9	0.444	2	3	0.667	7	14	0.500	8	15	0.533	1	0
Aleshia Cassio 0 0 0.000 1 2 0.500 0 0 0.000 2 0 0.000 2 0 0.000 2 0 0.000 2 0 0.000 2 0 0.000 2 0 0.000 2 0 0.000 2 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0.000 0 0 0 0.000 0 0 0 0.000 0 0 0 0.000 0 0 0 0.000 0 0 0 0.000 0 0 0 0 0.000 0 0 0 0 0 0.000 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Aubree Munro	0	0	0.000	1	3	0.333	0	0	0.000	3	9	0.333	1	6	0.167	2	0
Sahel Palacios 0 1 0.000 1 4 0.250 2 3 0.667 1 9 0.111 8 12 0.667 1 8 Shelby Pendley 0 0 0.0000 2 6 0.333 2 4 0.500 3 11 0.273 6 12 0.500 1 1 Eliki Piper 1 5 0.200 3 5 0.600 4 7 0.571 4 12 0.333 15 17 0.882 2 5 Abby Ramirez 0 1 0.000 1 1 1 1 0.000 1 1 1 1 0.000 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 <	Bubba Nickles	0	0	0.000	1	4	0.250	2	2	1.000	3	11	0.273	6	9	0.667	2	2
Schelby Pendley 0 0 0.000 2 6 0.333 2 4 0.500 3 11 0.273 6 12 0.500 1 1 Eikla Piper 1 5 0.200 3 5 0.600 1 2 0.500 4 7 0.571 4 12 0.333 15 17 0.882 2 5 Lilli Piper 1 2 0.000 1 3 0.033 1 2 0.500 2 0.286 6 8 0.750 2 6 Janie Read 0 0 0 1 1 1000 1 1 1000 5 12 0.417 10 14 0.714 3 0.507 2 4 0.500 1 1 1000 5 12 0.417 10 4 0.714 3 0.00 2 0.00 2 0.00 2 0.00 2 <th< td=""><td>Aleshia Ocasio</td><td>0</td><td>0</td><td>0.000</td><td>1</td><td>2</td><td>0.500</td><td>0</td><td>0</td><td>0.000</td><td>2</td><td>12</td><td>0.167</td><td>6</td><td>8</td><td>0.750</td><td>2</td><td>1</td></th<>	Aleshia Ocasio	0	0	0.000	1	2	0.500	0	0	0.000	2	12	0.167	6	8	0.750	2	1
Erika Piancastelli 0 0 0 0.000 5 10 0.500 4 7 0.571 4 12 0.333 15 17 0.882 2 5 Lilli Piper 1 0 5 0.200 3 0 5 0.600 1 2 0.500 4 13 0.308 7 13 0.538 6 3 Abby Ramirez 0 0 1 0.000 1 1 3 0.333 1 1 2 0.500 2 7 0.286 6 8 0.750 2 6 Abby Ramirez 1 0 0 0 0 0 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.000 1 1 0.00	Sashel Palacios	0	1	0.000	1	4	0.250	2	3	0.667	1	9	0.111	8	12	0.667	1	8
Lilli Piper 1 1 5 0.200 3 5 0.600 1 2 0.500 4 13 0.308 7 13 0.538 6 3 Abby Ramirez 0 1 1 0.000 1 3 0.333 1 2 0.500 2 7 0.286 6 8 0.750 2 6 Janic Reed 0 0 0 0.000 1 1 1 1 1.000 1 1 1 1.000 1 1 1 2 0.083 11 12 0.917 0 5 Jordan Roberts 1 1 4 0.550 2 4 0.500 2 4 1 1 1 1.000 5 1 1 2 0.083 11 12 0.917 0 5 Jordan Roberts 1 1 0.000 1 1 5 0.200 2 4 1 1 1 1.000 5 1 1 0.000 5 1 1 0 1 0.014 0.714 3 2 Sydney Romero 0 1 1 0.000 4 5 0.200 2 4 1 0.500 1 1 1 1.000 5 1 1 0 0.000 6 8 0.000 0 1 0.000 1 1 0 0.000 1 0 0.000 1 0 0.000 1 0 0.000 1 0 0.000 1 0 0.000 1 0 0.000 1 0 0 0 0	Shelby Pendley	0	0	0.000	2	6	0.333	2	4	0.500	3	11	0.273	6	12	0.500	1	1
Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby Ramirez Abby	Erika Piancastelli	0	0	0.000	5	10	0.500	4	7	0.571	4	12	0.333	15	17	0.882	2	5
Maria Reed Maria Roberts	Lilli Piper	1	5	0.200	3	5	0.600	1	2	0.500	4	13	0.308	7	13	0.538	6	3
Dordan Roberts 1	Abby Ramirez	0	1	0.000	1	3	0.333	1	2	0.500	2	7	0.286	6	8	0.750	2	6
Sydney Romero 0 1 0.000 1 5 0.200 2 4 0.500 5 17 0.294 7 15 0.467 0 4 Amanda Sanchez 0 1 0.000 4 6 0.667 2 3 0.667 2 10 0.200 6 8 0.750 4 0 DJ Sanders 0 4 0.000 2 6 0.333 1 1 1.000 0 14 0.000 4 8 0.500 0 2 Riley Sartain-Vaughan 0 2 0.000 3 0.000 0 0.000 1 11 0.091 5 8 0.625 0 3 Samantha Show 0 3 0.000 5 9 0.556 1 1 1.000 5 17 0.294 12 15 0.800 1 5 Gwen Svekis 0 0 0.000	Janie Reed	0	0	0.000	1	1	1.000	1	1	1.000	1	12	0.083	11	12	0.917	0	5
Amanda Sanchez Amanda Sanchez 0 1 0.000 4 6 0.667 2 3 0.667 2 10 0.200 6 8 0.750 4 0 0	Jordan Roberts	1	4	0.250	2	4	0.500	1	1	1.000	5	12	0.417	10	14	0.714	3	2
DJ Sanders 0 4 0.000 2 6 0.333 1 1 1 1.000 0 14 0.000 4 8 0.500 0 2 Riley Sartain-Vaughan 0 2 0.000 0 3 0.000 0 0 0.000 1 11 0.001 5 8 0.625 0 3 Samantha Show 0 3 0.000 2 6 0.333 1 1 1 1.000 1 15 0.067 6 12 0.500 2 3 Kelsey Stewart 0 0 0 0.000 5 9 0.556 1 1 1 1.000 5 17 0.294 12 15 0.800 1 5 Gwen Svekis 0 0 0 0.000 4 9 0.444 1 2 0.500 5 14 0.357 15 17 0.882 5 4 Nadia Taylor 0 2 0.000 3 7 0.429 2 4 0.500 5 18 0.278 20 25 0.800 6 8 Tori Vidales 0 0 0 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk 0 4 0.000 0 3 5 0.600 1 1 1.000 2 15 0.333 1 1 1 1 0.000 5 0 15 0.333 1 1 1 1 0.000 0 0 0 0.000 1 1 1 1 0.000 0 0 0.000 0 0 0	Sydney Romero	0	1	0.000	1	5	0.200	2	4	0.500	5	17	0.294	7	15	0.467	0	4
Riley Sartain-Vaughan 0 2 0.000 0 3 0.000 0 0 0.000 1 11 0.091 5 8 0.625 0 3 Samantha Show 0 3 0.000 2 6 0.333 1 1 1.000 1 15 0.067 6 12 0.500 2 3 Kelsey Stewart 0 0 0.000 5 9 0.556 1 1 1.000 5 17 0.294 12 15 0.800 1 5 Gwen Svekis 0 0 0.000 4 9 0.444 1 2 0.500 5 14 0.357 15 17 0.882 5 4 Nadia Taylor 0 2 0.000 3 7 0.429 2 4 0.500 2 10 0.200 7 12 0.583 2 1 Anissa Urtez 0	Amanda Sanchez	0	1	0.000	4	6	0.667	2	3	0.667	2	10	0.200	6	8	0.750	4	0
Samantha Show 0 3 0.000 2 6 0.333 1 1 1.000 1 15 0.067 6 12 0.500 2 3 Kelsey Stewart 0 0 0.000 5 9 0.556 1 1 1.000 5 17 0.294 12 15 0.800 1 5 Gwen Svekis 0 0 0.000 4 9 0.444 1 2 0.500 5 14 0.357 15 17 0.882 5 4 Nadia Taylor 0 2 0.000 3 7 0.429 2 4 0.500 2 10 0.200 7 12 0.583 2 1 Anissa Urtez 0 0 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk 0 4	DJ Sanders	0	4	0.000	2	6	0.333	1	1	1.000	0	14	0.000	4	8	0.500	0	2
Kelsey Stewart 0 0 0.000 5 9 0.556 1 1 1.000 5 17 0.294 12 15 0.800 1 5 Gwen Svekis 0 0 0.000 4 9 0.444 1 2 0.500 5 14 0.357 15 17 0.882 5 4 Nadia Taylor 0 2 0.000 3 7 0.429 2 4 0.500 2 10 0.200 7 12 0.583 2 1 Anissa Urtez 0 0 0.000 9 18 0.500 3 3 1.000 5 18 0.278 20 25 0.800 6 8 Tori Vidales 0 0 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk 0	Riley Sartain-Vaughan	0	2	0.000	0	3	0.000	0	0	0.000	1	11	0.091	5	8	0.625	0	3
Gwen Svekis 0 0 0.000 4 9 0.444 1 2 0.500 5 14 0.357 15 17 0.882 5 4 Nadia Taylor 0 2 0.000 3 7 0.429 2 4 0.500 2 10 0.200 7 12 0.583 2 1 Anissa Urtez 0 0 0.000 9 18 0.500 3 1.000 5 18 0.278 20 25 0.800 6 8 Tori Vidales 0 0 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk 0 4 0.000 0 3 0.000 1 3 0.333 0 3 0.000 5 8 0.625 0 1 Jessi Warren 0 0 0 <td>Samantha Show</td> <td>0</td> <td>3</td> <td>0.000</td> <td>2</td> <td>6</td> <td>0.333</td> <td>1</td> <td>1</td> <td>1.000</td> <td>1</td> <td>15</td> <td>0.067</td> <td>6</td> <td>12</td> <td>0.500</td> <td>2</td> <td>3</td>	Samantha Show	0	3	0.000	2	6	0.333	1	1	1.000	1	15	0.067	6	12	0.500	2	3
Nadia Taylor 0 2 0.000 3 7 0.429 2 4 0.500 2 10 0.200 7 12 0.583 2 1 Anissa Urtez 0 0 0 0.000 9 18 0.500 3 3 1.000 5 18 0.278 20 25 0.800 6 8 Tori Vidales 0 4 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk 0 4 0.000 0 3 5 0.600 1 1 0.000 2 15 0.33 5 15 0.633 1 2 Jessi Warren 0 0 0 0.000 3 5 0.600 1 1 0.000 2 15 0.33 5 15 0.333 1 2 Kayla Wedl 0 1 0.000 0 2 0.000 2 7 0.286 1 1 0.000 5 15 0.333 9 15 0.600 2 6 Sami Williams 0 0 0 0.000 1 1 0.000 0 0 0.000 1 1.000 0 0 0.000 1 1 1 1	Kelsey Stewart	0	0	0.000	5	9	0.556	1	1	1.000	5	17	0.294	12	15	0.800	1	5
Anissa Urtez O O 0 0.000 9 18 0.500 3 3 1.000 5 18 0.278 20 25 0.800 6 8 Tori Vidales O O 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk O 4 0.000 0 3 0.000 1 3 0.000 1 3 0.000 1 1 1 0.000 5 15 0.333 1 1 19 0.737 4 4 Jessi Warren O O 0.000 3 5 0.600 1 1 1.000 2 15 0.133 5 15 0.333 1 2 Kayla Wedl O 1 0.000 0 2 0.000 0 1 0.000 1 4 0.250 0 3 0.000 0 0 0 Megan Wiggins O O 0.000 1 1 1 0.000 0 0 0.000 1 1 1 0.000 0 0 0.000 0 0 0	Gwen Svekis	0	0	0.000	4	9	0.444	1	2	0.500	5	14	0.357	15	17	0.882	5	4
Tori Vidales 0 0 0 0.000 7 9 0.778 3 4 0.750 6 17 0.353 14 19 0.737 4 4 Britt Vonk 0 4 0.000 0 3 0.000 1 3 0.33 0 3 0.000 5 8 0.625 0 1 Jessi Warren 0 0 0 0.000 3 5 0.600 1 1 1 0.000 2 15 0.133 5 15 0.333 1 2 Kayla Wedl 0 1 0.000 0 2 0.000 0 1 0.000 1 4 0.250 0 3 0.000 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Nadia Taylor	0	2	0.000	3	7	0.429	2	4	0.500	2	10	0.200	7	12	0.583	2	1
Britt Vonk 0 4 0.000 0 3 0.000 1 3 0.33 0 3 0.000 5 8 0.625 0 1 Jessi Warren 0 0 0 0.000 3 5 0.600 1 1 1 0.000 2 15 0.133 5 15 0.333 1 2 Kayla Wedl 0 1 0.000 0 2 0.000 0 1 0.000 1 4 0.250 0 3 0.000 0 0 Megan Wiggins 0 0 0.000 2 7 0.286 1 1 1.000 5 15 0.333 9 15 0.600 2 6 Sami Williams 0 0 0 0.000 1 1 1 1.000 0 0 0.000 0 0 0.000 1 1 1 1	Anissa Urtez	0	0	0.000	9	18	0.500	3	3	1.000	5	18	0.278	20	25	0.800	6	8
Jessi Warren 0 0 0.000 3 5 0.600 1 1 1.000 2 15 0.133 5 15 0.333 1 2 Kayla Wedl 0 1 0.000 0 2 0.000 0 1 4 0.250 0 3 0.000 0 0 Megan Wiggins 0 0 0.000 2 7 0.286 1 1 1.000 5 15 0.333 9 15 0.600 2 6 Sami Williams 0 0 0.000 1 1 1.000 0 0.000 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Tori Vidales	0	0	0.000	7	9	0.778	3	4	0.750	6	17	0.353	14	19	0.737	4	4
Kayla Wedl 0 1 0.000 0 2 0.000 0 1 0.000 1 4 0.250 0 3 0.000 0 0 Megan Wiggins 0 0 0.000 2 7 0.286 1 1 1.000 5 15 0.333 9 15 0.600 2 6 Sami Williams 0 0 0.000 1 1 1.000 0 0.000 0 0.000 1 1 1.000 0		0	4		0		0.000	1	3	0.333			0.000			0.625	0	1
Kayla Wedl 0 1 0.000 0 2 0.000 0 1 0.000 1 4 0.250 0 3 0.000 0 0 Megan Wiggins 0 0 0.000 2 7 0.286 1 1 1.000 5 15 0.333 9 15 0.600 2 6 Sami Williams 0 0 0.000 1 1 1.000 0 0.000 0 0.000 1 1 1.000 0	Jessi Warren	0	0	0.000	3	5	0.600	1	1	1.000	2	15	0.133	5	15	0.333	1	2
Megan Wiggins 0 0 0.000 2 7 0.286 1 1 1.000 5 15 0.333 9 15 0.600 2 6 Sami Williams 0 0 0.000 1 1 1.000 0 0.000 0 0.000 1 1 1.000 0 0		0	1	0.000	0	2	0.000	0	1	0.000	1	4	0.250	0	3	0.000	0	0
Sami Williams 0 0 0.000 1 1 1.000 0 0.000 0 0.000 1 1 1.000 0 0		0	0	0.000	2	7	0.286	1	1	1.000	5	15	0.333	9	15	0.600	2	6
		0	0	0.000	1	1	1.000	0	0	0.000	0	0	0.000	1	1	1.000	0	0
	Morgan Zerkle	0	0	0.000	4	8	0.500	1	2	0.500	8	18	0.444	14	17	0.824	6	5



		202	21 ATH	ILET I	ES UN	LIMI	TED S	OFTE	ALL P	PITCH	IING S	STATI	STICS	•				
ATHLETE	LPTS	ERA	APP	GS	W-L	SV	CG	SHO	IP	R	ER	Н	ВВ	SO	HR	B/AVG	WP	HP
Ocasio, Aleshia	2096	2.32	13	10	6-5	0	2	0	66.0	25	22	63	21	55	7	0.254	0	4
Eberle, Carrie	1592	3.16	13	10	3-2	1	2	0	51.0	24	23	58	21	17	4	0.296	3	1
Osterman, Cat	1586	1.75	12	7	4-4	1	2	1	60.0	23	15	31	26	50	5	0.148	3	4
Denham, Alyssa	1320	3.71	8	5	2-1	0	0	0	28.0	15	15	25	7	17	3	0.236	0	4
Wagner, Haylie	1320	3.61	11	3	2-2	1	1	0	31.0	16	15	40	3	23	6	0.315	0	3
Alexander, Odicci	1300	4.72	9	5	2-1	0	0	0	26.0	19	18	28	9	22	9	0.269	4	1
Rupp, Randi	1216	2.72	8	0	2-0	0	0	0	18.0	9	7	16	6	12	1	0.225	0	1
Show, Samantha	1162	9.33	2	0	0-0	0	0	0	3.0	4	4	5	0	3	1	0.333	0	0
Fiser, Amber	1112	2.84	7	2	1-1	0	0	0	12.0	10	8	19	8	9	0	0.333	0	1
Groenewegen, Sara	1032	4.59	13	3	3-5	0	0	0	32.0	26	21	40	14	16	6	0.296	4	2
Newman, Nicole	1024	3.50	1	0	0-0	0	0	0	2.0	1	1	2	2	0	0	0.250	0	0
Alvelo, Taran	1014	8.67	6	5	1-3	0	0	0	15.0	19	19	27	5	9	6	0.403	1	2
McQuillin, Taylor	962	3.92	8	5	3-3	0	1	0	30.0	17	17	29	15	23	5	0.257	1	3
Burroughs, Jessica	694	3.86	9	1	0-2	1	0	0	16.0	9	9	12	7	9	3	0.200	1	1
O'Toole, Danielle	680	9.90	10	2	1-1	0	0	0	23.0	34	33	36	10	17	9	0.343	3	1
Snyder, Gina	576	5.25	1	0	0-0	0	0	0	1.1	1	1	1	1	0	1	0.250	0	0

	202	21 AT	HLETE	S UN	ILIMI	TED S	OFTB	ALL S	ITUAT	IONA	AL PIT	CHIN	IG STA	TIST	ICS			
		Vs Left			Vs Right		Rur	ners on	Base	В	ases Em _l	oty	Vs L	eadoff H	litter	Wi	th Two C	Outs
Player	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Hits	AB	Avg.	Reached	Ops	Pct.	Hits	AB	Avg.
Odicci Alexander	11	34	0.324	17	70	0.243	10	23	0.435	18	81	0.222	13	29	0.448	9	35	0.257
Taran Alvelo	11	22	0.500	16	45	0.356	13	22	0.591	14	45	0.311	7	18	0.389	11	24	0.458
Jessica Burroughs	5	22	0.227	7	38	0.184	6	14	0.429	6	46	0.130	4	14	0.286	2	18	0.111
Alyssa Denham	11	36	0.306	14	70	0.200	11	27	0.407	14	79	0.177	8	29	0.276	8	32	0.250
Carrie Eberle	29	76	0.382	29	120	0.242	26	55	0.473	32	141	0.227	16	53	0.302	18	61	0.295
Amber Fiser	8	26	0.308	11	31	0.355	11	23	0.478	8	34	0.235	5	14	0.357	5	17	0.294
Sara Groenewegen	17	54	0.315	23	81	0.284	20	47	0.426	20	88	0.227	9	27	0.333	13	48	0.271
Taylor McQuillin	15	56	0.268	14	57	0.246	14	41	0.341	15	72	0.208	15	30	0.500	5	34	0.147
Nicole Newman	0	3	0.000	2	5	0.400	2	6	0.333	0	2	0.000	1	2	0.500	1	3	0.333
Aleshia Ocasio	25	93	0.269	38	155	0.245	21	62	0.339	42	186	0.226	21	68	0.309	20	81	0.247
Cat Osterman	14	96	0.146	17	114	0.149	15	63	0.238	16	147	0.109	18	56	0.321	12	71	0.169
Danielle O'Toole	9	37	0.243	27	68	0.397	19	30	0.633	17	75	0.227	10	24	0.417	16	39	0.410
Randi Rupp	5	29	0.172	11	42	0.262	10	22	0.455	6	49	0.122	3	16	0.188	6	25	0.240
Samantha Show	3	5	0.600	2	10	0.200	3	5	0.600	2	10	0.200	2	3	0.667	0	3	0.000
Gina Snyder	0	1	0.000	1	3	0.333	1	3	0.333	0	1	0.000	1	1	1.000	1	2	0.500
Haylie Wagner	20	57	0.351	20	70	0.286	16	42	0.381	24	85	0.282	11	27	0.407	12	42	0.286



		2021	ATHLETES	UNLIMIT	ED SOF	TBALI	L HOM	E RUN L	OG	
PLAYER	DATE	OPPONENT	PITCHER	ON BASE	INNING	OUTS	COUNT	LEADOFF	DISTANCE	NOTES
DJ Sanders	8/28/2021	Team Warren	O'Toole	2	1	1	1-1	LEADOFF	229	NOTES
Gwen Svekis	8/28/2021	Team Warren	O'Toole	0	4	1	0-0		229	
Morgan Zerkle	8/28/2021	Team Warren	O'Toole	0	4	2	0-0		234	
Amanda Chidester	8/28/2021	Team Hayward	Ocasio	0	4	0	0-0	*	265	
Morgan Howe	8/28/2021	Team Warren	Burroughs	0	7	0	0-1	*	244	
Sashel Palacios	8/29/2021	Team Piancastelli	Alvelo	0	4	1	0-0		227	
Ali Aguilar	8/30/2021	Team Piancastelli	Groenewegen	0	1	1	1-2		230	
Erika Piancastelli	8/30/2021	Team Hayward	Ocasio	0	6	1	1-2		258	
Amanda Chidester	8/30/2021	Team Osterman	Alexander	0	2	0	0-0		220	
Sahvanna Jaquish	8/30/2021	Team Warren	Snyder	1	3	2	1-2		223	
Lilli Piper	8/30/2021	Team Warren	Burroughs	1	2	2	2-1		241	
Norgan Zerkle	9/4/2021	Team Vidales	Alvelo	1	1	0	0-0		230	
Amanda Chidester	9/4/2021	Team Vidales	Alvelo	1	1	0	0-1		260	
ori Vidales	9/4/2021	Team Osterman	Osterman	0	1	2	1-2		258	
Celsey Stewart	9/4/2021	Team Vidales	Denham	2	3	1	0-1		238	
lessi Warren	9/4/2021	Team Vidales	Wagner	0	4	0	1-1	*	242	
nissa Urtez	9/4/2021	Team Vidales	Wagner	1	6	2	0-0		231	
ahvanna Jaquish	9/4/2021	Team Piper	Ocasio	0	1	1	2-2		236	
J Sanders	9/4/2021	Team Jaquish	Groenewegen	1	2	0	2-2		217	Back-to-Back
manda Sanchez	9/4/2021	Team Jaquish	Groenewegen	0	2	0	1-1		247	Back-to-Back
essi Warren	9/4/2021	Team Piper	McQuillin	0	4	0	0-1	*	226	Back-to-Back
manda Chidester	9/5/2021	Team Piper	McQuillin	0	4	0	2-2		241	Back-to-Back
lannah Flippen	9/5/2021	Team Jaquish	Alexander	1	1	2	1-0		240	Duck to Duck
	9/5/2021	Team Vidales	O'Toole	1	1	1	1-0		255	
lahvanna Jaquish laylie McCleney	9/5/2021	Team Vidales	Alexander	0	4	0	1-1 3-1		255	
amantha Show				1	5	2				
	9/5/2021	Team Vidales	O'Toole	•			2-2		239	Const Class
rika Piancastelli	9/5/2021	Team Jaquish	Show	3	7	1	0-1		264	Grand Slam
elsey Harshman	9/11/2021	Team McCleney	Groenewegen	2	1	0	0-0		223	
ubba Nickles	9/11/2021	Team McCleney	Groenewegen	0	2	0	0-0		225	
manda Chidester	9/11/2021	Team McCleney	O'Toole	2	2	2	1-0		279	
Dejah Mulipola	9/11/2021	Team McCleney	O'Toole	0	3	2	0-1		245	
Dejah Mulipola	9/11/2021	Team McCleney	Rupp	2	7	1	-		234	
Ali Aguilar	9/11/2021	Team Jaquish	McQuillin	1	7	2	2-1		226	
Amanda Lorenz	9/11/2021	Team Osterman	Osterman	0	3	1	0-0		250	
Amanda Lorenz	9/11/2021	Team Osterman	Osterman	2	6	2	2-1		254	
Gwen Svekis	9/11/2021	Team Ocasio	Ocasio	0	7	0	1-0	•	252	Back-to-Back
elsey Stewart	9/11/2021	Team Ocasio	Ocasio	0	7	0	-		250	Back-to-Back
Caleigh Clifton	9/12/2021	Team McCleney	O'Toole	1	5	1	1-1		229	
Amanda Lorenz	9/12/2021	Team McCleney	O'Toole	2	5	2	3-2		248	
manda Chidester	9/12/2021	Team Osterman	Burroughs	1	8	0	1-0		-	
Amanda Chidester	9/13/2021	Team Ocasio	Ocasio	1	6	0	2-2		244	
Megan Wiggins	9/13/2021	Team McCleney	Groenewegen	1	2	2	1-0		240	
ori Vidales	9/18/2021	Team Osterman	McQuillin	0	4	0	2-1	*	223	
am Fischer	9/18/2021	Team Ocasio	Ocasio	0	6	0	1-2	*	245	
Swen Svekis	9/19/2021	Team Jaquish	Alvelo	1	3	2	1-1		226	
aleigh Clifton	9/19/2021	Team Ocasio	Alexander	0	3	0	0-0	*	228	
elsey Stewart	9/19/2021	Team Jaquish	Wagner	1	4	1	1-1		239	
wen Svekis	9/19/2021	Team Jaquish	Wagner	2	6	2	3-1		261	
lorgan Zerkle	9/19/2021	Team Osterman	Osterman	1	1	2	1-1		244	
manda Sanchez	9/20/2021	Team Osterman	McQuillin	2	1	2	2-0		230	
ahvanna Jaquish	9/20/2021	Team Chidester	Eberle	0	4	0	2-0	*	234	
li Aguilar	9/20/2021	Team Jaquish	Wagner	0	6	0	0-1	*	218	
ordan Roberts	9/25/2021	Team Eberle	Eberle	1	5	1	2-1		272	
azmyn Jackson	9/25/2021	Team Jaquish	Alexander	1	6	2	0-0		214	
rika Piancastelli	9/25/2021	Team Jaquish	Alexander	0	7	2	0-0		224	
ori Vidales	9/26/2021	Team Chidester	Alvelo	1	1	2	1-0		240	
manda Lorenz	9/26/2021	Team Jaquish	Denham	0	1	0	2-1	*	239	
lorgan Zerkle	9/26/2021	Team Chidester	Alvelo	1	2	1	3-2		248	
manda Lorenz	9/26/2021	Team Jaquish	Alexander	0	5	1	0-0		267	
essi Warren	9/26/2021	Team Jaquish	Alexander	0	6	0	1-2	*	211	
ordan Roberts	9/26/2021	Team Jaquish	Alexander	1	6	2	1-0		248	
ladia Taylor	9/26/2021	Team Chidester	Osterman	0	7	2	0-0		224	
manda Sanchez	9/26/2021	Team Eberle	Eberle	1	3	1	2-1		-	
Ali Aguilar	9/26/2021	Team Ocasio	Wagner	0	7	1	0-0		232	
Sashel Palacios	9/27/2021	Team Eberle	Eberle	0	5	0	2-2	*	228	
Ali Aguilar	9/27/2021	Team Jaquish	Denham	1	6	1	0-0		249	
J. =										



#00 · RACHEL GARCIA · PITCHER · 5-6 · R/R · UCLA



SEASO	N HIGHS	
Н		-
R		
HR		-
RBI		-
BB		
SB		-

NOTEWORTHY

- Finished in second place on the 2022 AUX leaderboard with 1,422 points
- Member of Team USA at 2020 Tokyo Olympics
- Authored 99-17 record in the circle for UCLA from 2017-21
- Led Bruins to 2019 NCAA Women's College World Series title, earning Most Outstanding Player honors
- Three-time recipient of Honda Award for Softball (2018, 2019, 2021)
- · 2018 & 2019 USA Softball Collegiate Player of the Year

#1 · VICTORIA HAYWARD · OUTFIELD · 5-7 · L/L · WASHINGTON



SEASO	N HIGHS	
Н		
R		
HR		
RBI		
BB		
SB		

NOTEWORTHY

- Placed 13th on AUX leaderboard with 1,084 points while starting 10-of-11 games
- Member of Athletes Unlimited Softball Player Executive Committee
- Ranked 3rd on 2020 Championship Season leaderboard (1,860 points) ... 4th in the league with 1,310 win points
- Youngest person ever selected to Canadian Senior National Team ... led Team Canada to Bronze medal at 2020 Tokyo Olympics
- · Currently works as an assistant softball coach at San Diego State

#2 · SYDNEY ROMERO · MIDDLE INFIELD · 5-7 · R/R · OKLAHOMA



SEASO	N HIGHS	
H		<u></u> _
R		
HR		
RBI		
BB		
SB		

NOTEWORTHY

- Earned sixth place on AUX leaderboard with 1,260 points while hitting .326
- Tallied 932 leaderboard points as a rookie during 2021 AU Championship season ... started 12-of-15 games and posted nine hits
- Member of Team Mexico at 2020 Tokyo Olympics ... went .222 with four hits, including a double and a home run
- Led Oklahoma to pair of NCAA titles as a player ... worked as a student assistant coach on 2022 NCAA Champion squad with the Sooners

#4 · AMANDA CHIDESTER · CORNER INFIELD · 5-9 · R/R · MICHIGAN



SEASO	N HIGHS	
Н		-
R		
HR		
RBI		
BB		
SB		

NOTEWORTHY

- Claimed 10th place on AUX leaderboard after accruing 1,164 points
- Finished 2nd on 2021 AU Championship Season leaderboard with 1,714 points ... also tied for 4th in the league with 1,140 win points
- Member of inaugural Athletes Unlimited All-Defensive Team in 2021
- Hit .300 with 15 hits during 2020 campaign ... tied for 6th in the league with 13 runs batted in
- Helped Team USA win Silver medal at 2020 Tokyo Olympics

#5 · DANIELLE GIBSON · CORNER INFIELD · 6-0 · L/R · ARKANSAS



SEASON HIGHS			
Н			-
R			_
HR			-
RBI			-
BB			-
SB			-

NOTEWORTHY

- Scored 714 leaderboard points in AUX season while making professional debut
 - One of 13 players selected in 2022 Athletes Unlimited College Draft
- Four-year letter winner at Arkansas ... owns school record with 180 career runs batted in ... also belted 60 home runs with .366 average
- First-Team NFCA All-America performer in 2022 after leading team in average, hits, doubles, home runs and RBI ... one of five players in SEC with 20 or more home runs in 2022

#6 · SHANNON RHODES · OUTFIELD · 5-6 · R/R · TEXAS



SEASOI	SEASON HIGHS			
Н			-	
R				
HR			-	
RBI			-	
BB			-	
SB			-	

- Registered 1,042 points during AUX season to secure 16th place on leaderboard
- One of 12 players picked in 2021 Athletes Unlimited College Draft
- Started college career at Oregon before playing three years at Texas ... tallied 242 career hits, including 37 doubles and three triples
- Second-Team NFCA All-Region and All-Big 12 performer in 2021 ... scored 53 runs and drove in 55 runs
- Second-Team All-Region at Oregon during sophomore campaign



#7 · ANISSA URTEZ · MIDDLE INFIELD · 5-8 · R/R · UTAH



SEASO	SEASON HIGHS		
Н			
R			
HR			
RBI	-		
BB			
SB			

NOTEWORTHY

- 2021 Athletes Unlimited Softball GEICO Defensive Player of the Year who finished 14th on the leaderboard with 1,354 points ... tied for third in the league with 160 MVP points
- Member of inaugural Athletes Unlimited Softball All-Defensive Team in 2021
- Opened Athletes Unlimited career with 15th place finish in 2020 after compiling 1,510 points, including 1,190 win points
- Member of Team Mexico at 2020 Tokyo Olympics who hit .300 (6-for-20)

#8 · ALESHIA OCASIO · PITCHER · 5-9 · L/R · FLORIDA



SEASO	SEASON HIGHS		
Н	-		
R	-		
HR	-		
RBI	-		
BB	-		
SB			

NOTEWORTHY

- Compiled 740 leaderboard points during AUX season earlier this summer
- Claimed individual championship during 2021 AU Championship Season ... led league with 2,096 leaderboard points
- Member of 2021 Athletes Unlimited All-Defensive Team
- Has played for Puerto Rico National Team since 2013
- Fashioned 71-14 career record at Florida with 10 saves ... ranks 9th in UF history with 19 career shutouts

#9 · KIKI STOKES-O'CONNOR · OUTFIELD · 5-5 · L/R · NEBRASKA



SEASOI	SEASON HIGHS		
Н	-	 _	
R	_		
HR	-		
RBI	-		
BB	-		
SB	-		

NOTEWORTHY

- Four-year letter winner at Nebraska who started 233-of-235 games from 2013-16
 ... set school record with 200 career runs scored while batting .350
- Third-Team NFCA All-America selection as a junior and senior ... also garnered First-Team NFCA All-Region and All-Big Ten Conference honors in those seasons
- Scored school-record five runs against Maryland on Apr. 3, 2016
- Named head softball coach at Kansas City on July 18, 2022 ... married Sean O'Connor on June 25, 2022

#10 · ABBY RAMIREZ · MIDDLE INFIELD · 5-4 · S/R · MICHIGAN



SEASON HIGHS		
Н		<u></u>
R		
HR		
RBI		
BB		
SB		

NOTEWORTHY

- Compiled 380 leaderboard points during 2022 AUX Season in San Diego
- Owns 2,320 career points in two AU Championship Seasons ... ranked 20th on inaugural season leaderboard with 1,380 points
- Ranked 8th in the league with 1,260 win points during 2020 campaign
- Batted .349 in four seasons at Michigan with two home runs and 63 runs batted in
- Two-time Second-Team All-Big Ten performer at shortstop
- Currently serves as an assistant softball coach at DePaul

#11 • ALIYAH ANDREWS • OUTFIELD • 5-8 • L/R • LSU



SEASO	SEASON HIGHS		
Н			
R			
HR			
RBI			
BB			
SB			

NOTEWORTHY

- Placed 26th on AUX leaderboard with 816 points while starting all 12 games
- Member of 2021 Athletes Unlimited All-Defensive Team ... also finished 8th with 1,510 points, including league-high 1,200 win points
- Garnered .319 batting average in 15 games with 10 runs scored in 2021
- Played in 268 career games at LSU ... closed career with 286 hits, including 12 doubles, eight triples and two home runs
- Second-Team NFCA All-America performer as a fifth-year senior in 2021

#12 · TAYLOR EDWARDS · CATCHER · 5-7 · R/R · NEBRASKA



SEASON	SEASON HIGHS		
Н			
R			-
HR			-
RBI			
BB			
SB			

- Finished in 14th place on AUX leaderboard with 1,042 leaderboard points
- Owns 1,914 career leaderboard points in two AU Championship Seasons ... also has .250 average with two home runs and eight RBI
- Member of Gold medal-winning Team USA at 2018 WBSC World Championship and USA Softball International Cup
- Two-time NFCA All-America performer at Nebraska who ended career holding 17 program records



#13 · SASHEL PALACIOS · CATCHER · 5-3 · L/R · ARIZONA STATE

SEASO	SEASON HIGHS		
Н		-	
R			
HR			
RBI		-	
BB			
SB			

NOTEWORTHY

- Compiled 720 leaderboard points during 2022 AUX season
- Started in 23-of-27 games during first two AU Championship Seasons
- Led Team Mexico to 4th-place finish at 2020 Tokyo Olympics ... hit .222 in five games
- Four-year letter winner at Arizona State who hit .322 with 18 home runs and 88 runs batted in ... tallied 133 hits, including 19 doubles
- First-Team All-Pac-12 performer in 2017 with 10 home runs and 40 RBI

#14 · ALY HARRELL · CORNER INFIELD · 5-7 · L/L · MARSHALL



SEASO	SEASON HIGHS		
Н		-	
R		_	
HR		-	
RBI		-	
BB		-	
SB			

NOTEWORTHY

- Finished 23rd in AUX leaderboard with 848 points while making pro debut
- Started 215-of-220 games over five seasons at Marshall from 2018-22
- Ranks 3rd in school history with 53 career home runs ... also one of 12 players with 200 or more career hits
- Four-time First-Team All-Conference USA performer who also earned NFCA All-Region honors four times
- One of three players in school history to reach base in 200+ career games

#15 · DEJAH MULIPOLA · CATCHER · 5-8 · R/R · ARIZONA



SEASON	SEASON HIGHS		
Н		-	
R			
HR		-	
RBI			
BB		-	
SB			

NOTEWORTHY

- · Earned third place on AUX leaderboard with 1,368 leaderboard points
- Batted .325 during 2021 AU Championship Season while starting 14-of-15 games
- Posted 13 hits as a rookie, including six extra-base hits ... led league with two triples while adding two doubles and two home runs
- One of 12 players selected in 2021 Athletes Unlimited College Draft
- Member of Team USA since 2018 ... went 1-for-2 with a run scored against Mexico in 2020 Tokyo Olympics

#18 · MORGAN ZERKLE · OUTFIELD · 5-8 · L/R · MARSHALL



SEASO	SEASON HIGHS		
Н			
R			
HR		-	
RBI		-	
BB			
SB			

NOTEWORTHY

- Closed AUX season in fourth place on the leaderboard with 1,338 points
- Finished 2021 AU Championship Season in sixth place on the leaderboard with 1,576 points ... also ranked seventh in the league in win points (1,120) and stat points (376)
- Ranked 4th in the league last summer with 12 runs ... also drove in 14 runs
- Earned share of 5th place during inaugural season with 1,710 points
- Second-Team All-America performer at Marshall during senior season

#19 · HANNAH FLIPPEN · MIDDLE INFIELD · 5-4 · R/R · UTAH



SEASON HIGHS		
Н		
R		-
HR		
RBI		-
BB		
SB		
-		

NOTEWORTHY

- Compiled 2,566 leaderboard points during first two Championship Seasons
- Starter in all 30 games during first two Championship Seasons who has driven in 23 runs
- Four-year letter winner at Utah from 2014-17 who hit .390 with 33 home runs and 145 runs batted in ... also tallied 261 hits, including 35 doubles and 13 triples
- Competed for Team USA at The 2022 World Games, hitting .250 with two home runs and four runs batted in over five games

#20 · CALEIGH CLIFTON · MIDDLE INFIELD · 5-8 · R/R · OKLAHOMA



SEASON HIGHS			
Н			<u></u>
R			<u></u>
HR			-
RBI			-
BB			<u></u>
SB			-

- Finished in 24th place on AUX leaderboard with 836 points with .242 average
- Competed in each of first two AU Championship Seasons ... tallied 1,144 leaderboard points in 2021 with .310 average and 13 hits
- Four-year letter winner at Oklahoma who started 249-of-254 games from 2016-19
 ... led Sooners to back-to-back NCAA Women's College World Series titles
- Unanimous First-Team NFCA All-America pick as a senior ... also garnered Second-Team All-America honors during sophomore campaign



#21 · GWEN SVEKIS · CATCHER · 5-9 · R/R · OREGON

SEASO	SEASON HIGHS		
Н			
R			
HR			
RBI			
BB			
SB		<u></u>	

NOTEWORTHY

- Member of 2021 Athletes Unlimited All-Defensive Team who placed 10th on the leaderboard with 1,464 points ... tied for fifth in the league with 140 MVP points
- Shared 5th place on inaugural season leaderboard with 1,710 points ... also shared league lead with 1,380 win points while batting .262 with 11 hits
- · Alternate on Team USA roster at The 2022 World Games
- Started 197-of-217 games at Oregon from 2015-18 ... hit .337 during her career
- Currently works as Athletes Unlimited Manager of Player Care and Coordination

#22 · ODICCI ALEXANDER · 5-7 · R/R · JAMES MADISON



SEASON HIGHS			
Н			-
R			-
HR			
RBI			-
BB			-
SB			

NOTEWORTHY

- Finished 22nd on 2021 Championship Season leaderboard with 1,300 points ... also tied for ninth in the league with 1,050 win points
- Five-year letter winner at James Madison who started 207-of-208 games from 2017-21 ... ranks third in school history with 139 appearances in the circle, including 102 starts
- Led Dukes to 2021 NCAA Women's College World Series as a redshirt senior, earning a spot on All-Tournament Team

#23 · AMANDA LORENZ · OUTFIELD · 5-5 · L/L · FLORIDA



SEASO	SEASON HIGHS		
Н	-		
R	-		-
HR	-		-
RBI	-		-
BB	-		-
SB			

NOTEWORTHY

- · Member of Athletes Unlimited Softball Player Executive Committee
- Finished in 11th place on 2021 AU Championship Season leaderboard with 1,404 points ... also ranked 8th with 364 stat points
- Four-time NFCA All-America performer at Florida who posted .406 career average with 40 home runs and 192 runs batted in
- Currently serves as a volunteer assistant coach at Florida, which reached the 2022 NCAA Women's College World Series

#24 · JAZMYN JACKSON · OUTFIELD · 5-7 · L/R · CALIFORNIA



SEASO	N HIGHS	
Н		
R		-
HR		
RBI		-
BB		
SB	-	

NOTEWORTHY

- Member of Athletes Unlimited Softball Player Executive Committee
- Inaugural recipient of Athletes Unlimited Civic Leadership Award
- Tallied 2,088 leaderboard points during first two AU Championship Seasons ... has started 27-of-29 games with .234 average and 18 hits
- Three-time First-Team NFCA All-Region performer at California who earned All-Pac-12 recognition four times
- Ranks 5th in school history with 42 career doubles

#25 · MEGAN WIGGINS · OUTFIELD · 5-5 · L/R · GEORGIA



SEASO	SEASON HIGHS		
Н		<u> </u>	
R		<u></u>	
HR		-	
RBI			
BB			
SB			

NOTEWORTHY

- Starter in 29-of-30 games during first two AU Championship Seasons
- Tied for 3rd in the league with 17 hits during 2021 campaign ... also one of eight players to record a triple
- Started all 15 games in inaugural campaign who batted .347 with four home runs and 11 runs batted in
- Second-Team NFCA All-America selection as a senior at Georgia ... stands 6th in program history with 46 career home runs

#26 · SYDNEY SHERRILL · CORNER INFIELD · 5-7 · L/R · FLORIDA STATE



SEASON HIGHS			
Н			-
R			-
HR			_
RBI			
BB			
SB			

- One of 13 players selected in 2022 Athletes Unlimited Softball College Draft
- Five-year letter winner at Florida State who played in school-record 283 games from 2018-22
- 10th in Florida State history with .382 career batting average
- Owns Florida State and Atlantic Coast Conference career records with 82 doubles ... also scored 225 runs during career
- Three-time ACC Defensive Player of the Year selection (2019, 2021, 2022)



#27 · SAHVANNA JAQUISH · CATCHER · 5-7 · R/R · LSU



SEASO	SEASON HIGHS		
Н			
R			
HR			
RBI			
BB			
SB			

NOTEWORTHY

- Enters 2022 Championship Season as career leader in home runs (13), runs batted in (27) and total bases (78)
- Placed seventh on 2021 Championship Season leaderboard with 1,570 points ...
 tied for fourth in the league with 1,140 win points
- Claimed ninth place on inaugural Championship Season leaderboard with 1,680 points ... ranked second in the league with 590 stat points
- · Four-time NFCA All-America selection at LSU from 2014-17

#28 · HAYLIE McCLENEY · OUTFIELD · 5-4 · L/L · ALABAMA



SEASOI	SEASON HIGHS		
Н			
R			
HR			
RBI			
BB			
SB			

NOTEWORTHY

- Member of 2021 Athletes Unlimited All-Defensive Team ... also earned 2020 GEICO Defensive Player of the Year honors
- Finished 12th on 2021 AU Championship Season leaderboard with 1,402 points ... batted .378 with 14 runs scored in 14 games
- Shared 5th place on inaugural Championship Season leaderboard with 1,710 points ... also tied for 6th place with 490 stat points
- Member of Team USA that won Silver medal at 2020 Tokyo Olympics

#29 · TORI VIDALES · CORNER INFIELD · 5-8 · R/R · TEXAS A&M



SEASON HIGHS			
Н			
R			
HR			
RBI			-
BB			-
SB			

NOTEWORTHY

- Member of 2021 Athletes Unlimited All-Defensive Team
- Placed 16th on 2021 AU Championship Season leaderboard with 1,336 points ... tied for 10th in the league with 120 MVP points
- Earned 8th place on inaugural season leaderboard with 1,690 points, including 1,270 win points ... batted .365 with three home runs and 12 runs batted in
- Member of Team Mexico at 2020 Tokyo Olympics ... hit .222 in six games with four hits, including a double, with two runs batted in

#32 · SIERRA ROMERO · MIDDLE INFIELD · 5-5 · L/R · MICHIGAN



SEASO	N HIGHS	
H		<u> </u>
R		<u> </u>
HR		
RBI		
BB		<u></u>
SB		

NOTEWORTHY

- Competing in first Athletes Unlimited Championship Season, joining sister Sydney
 ... fourth pair of sisters to play in the same season in any AU sport
- Four-year letter winner at Michigan who started 252-of-253 games from 2013-16
 ... batted .441 with 82 home runs and 305 runs batted in
- 2016 USA Softball Collegiate Player of the Year ... also earned NFCA Division I Player of the Year and Honda Sport Award for Softball as a senior
- First player in Michigan history to earn four NFCA All-America honors

#33 · KELSEY HARSHMAN · MIDDLE INFIELD · 5-5 · L/R · WISCONSIN



SEASOI	N HIGHS	
Н		-
R		-
HR		-
RBI		-
BB		-
SB		-

NOTEWORTHY

- Started 14-of-15 games during 2021 Championship Season and compiled 808 leaderboard points ... tallied six walks while registering nine hits
- Registered 880 leaderboard points during inaugural Championship Season
- Led Team Canada to Bronze medal at 2020 Tokyo Olympics, collecting four hits with three runs scored and two RBI
- Four-year letter winner at Wisconsin from 2015-18 who hit .369 with 22 home runs and 127 runs batted in

#34 · ERIKA PIANCASTELLI · CATCHER · 5-9 · R/R · McNEESE STATE



SEASON	N HIGHS	
H		
R		
HR		
RBI		
BB		-
SB		

- Registered 3,118 leaderboard points during first two Championship Seasons ...
 ranked fourth on the leaderboard with 1,840 points during inaugural campaign
- Four-year letter winner at McNeese State who started 234-of-235 games from 2015-18 ... finished her career with 19 combined school and Southland Conference records
- Competed for Team Italy at 2020 Tokyo Olympics, posting two hits in five games
- MVP at 2022 MLB FTX Home Run Derby in London, England



#35 · NICOLE RANGEL-MENDES · OUTFIELD · 5-7 · L/L · OKLAHOMA

SEASO	N HIGHS		
Н			
R			
HR		-	
RBI	-		
BB			
SB			

NOTEWORTHY

- Member of Team Mexico at 2020 Tokyo Olympics ... hit .190 with four hits and a run scored in six games
- Started 209-of-241 games during five-year career at Oklahoma ... led Sooners to pair of NCAA Women's College World Series titles (2017, 2021)
- Hit .360 with 25 home runs and 121 runs batted in during college career ... also pitched 27 games in the circle with 2.47 earned run average
- · Ranks 10th in Oklahoma history with 46 career stolen bases

#37 · DJ SANDERS · OUTFIELD · 5-9 · R/R · OREGON



SEASON	HIGHS	
Н		
R		-
HR		-
RBI		-
BB		-
SB		 -
_		

NOTEWORTHY

- Finished 15th on 2021 AU Championship Season leaderboard with 1,352 points ... also tied for 4th with 1,140 win points
- Placed 14th on inaugural season leaderboard with 1,520 points ... starter in 14 games while hitting .333 with four home runs and five doubles
- Transferred to Oregon for her senior year after playing at Louisiana ... Second-Team All-Pac 12 performer who hit .281 for the Ducks
- · Currently works as a volunteer assistant coach at Mississippi State

#41 · JORDAN ROBERTS · CATCHER · 5-7 · R/R · FLORIDA



SEASON	HIGHS	
Н		-
R		
HR		-
RBI		
BB		-
SB		

NOTEWORTHY

- Posted 1,072 leaderboard points during AUX Season to finish in 14th place
- Hit .320 with two home runs and eight runs batted in during 2021 AU Championship Season ... tallied 1,304 leaderboard points
- Placed 12th on the inaugural season leaderboard with 1,580 points ... also ranked 5th in the league with 1,280 win points
- Started 171-of-205 games over four seasons at Florida from 2017-20 ... tallied 118 career hits, including 16 doubles, while scoring 54 runs

#42 · JANAE JEFFERSON · MIDDLE INFIELD · 5-4 · L/R · TEXAS



SEASO	N HIGHS	
H		<u></u>
R	-	<u></u> _
HR		-
RBI		
BB		
SB		

NOTEWORTHY

- One of 13 players selected in 2022 Athletes Unlimited Softball College Draft
- Record-setting standout at Texas who led Longhorns to NCAA Women's College World Series berth in 2022 ... set Texas and Big 12 Conference records with 362 career hits, which are tied for seventh in NCAA Division I history
- Four-time NFCA All-America performer, including Second-Team accolades in 2018, 2019 and 2022
- Member of Team USA at The 2022 World Games \dots hit .333 over five games

#43 · RACHEL LEWIS · OUTFIELD · 5-6 · R/R · NORTHWESTERN



SEASO	N HIGHS	
Н		
R		
HR		
RBI		
BB		-
SB		-

NOTEWORTHY

- One of 13 players selected in 2022 Athletes Unlimited Softball College Draft
- Five-year letter winner at Northwestern who started all 245 career games from 2018-22 ... blasted school-record 65 career home runs while hitting .313
- First-Team NFCA All-America selection in 2022 along with being named Big Ten Conference Player of the Year
- Led Northwestern to NCAA Women's College World Series in 2022 while pacing Big Ten in home runs, runs batted in and runs scored

#46 · MIA DAVIDSON · CATCHER · 5-5 · R/R · MISSISSIPPI STATE



SEASO	N HIGHS	
H		
R		
HR		
RBI		
BB		
SB		

- One of 13 players selected in 2022 Athletes Unlimited Softball College Draft
- Five-year letter winner at Mississippi State who started all 270 games of her career from 2018-22 ... belted 92 career home runs to set school and Southeastern Conference records
- Named 2022 NFCA/Diamond Sports Catcher of the Year along with earning First-Team NFCA All-America distinction
- Hobbies include performing bat tricks and collecting baseball cards



#47 · LILLI PIPER · CORNER INFIELD · 5-10 · R/R · OHIO STATE



SEASON HIGHS		
Н		-
R		
HR		
RBI		
BB		
SR		

NOTEWORTHY

- Placed 13th on 2021 AU Championship Season leaderboard with 1,364 points ... also earned 22nd place during inaugural campaign with 1,300 points
- Two-sport athlete (softball and basketball) at Akron as a freshman before transferring to Ohio State ... one of two players in Ohio State history to earn three NFCA All-America commendations
- Three-time unanimous First-Team All-Big Ten performer
- One of two players in Ohio State history with 50+ hits and 50+ RBI in same year

#48 · BUBBA NICKLES · OUTFIELD · 5-8 · R/R · UCLA



SEASON H	HIGHS	
Н		
R		
HR		
RBI		-
BB		
SB		

NOTEWORTHY

- Tallied 808 leaderboard points during Athletes Unlimited debut last summer
- Four-year letter winner at UCLA who started 215-of-217 games from 2017-21 ...
 redshirted 2020 season to compete with Team USA at "Stand Beside Her" Tour
- Accrued .357 career batting average with 42 home runs and 181 runs batted in
- Three-time All-Pac-12 Conference selection, including First-Team honors in 2018 and 2019
- Two-time member of NCAA Women's College World Series All-Tournament Team

#52 · SAM FISCHER · CORNER INFIELD · 5-11 · R/R · LOYOLA MARYMOUNT



SEASO	N HIGHS	
Н		
R		
HR		
RBI		
BB		
SB		

NOTEWORTHY

- Finished in eighth place on AUX leaderboard with 1,236 points over 12 games
- Hit .302 while starting 14-of-15 games in inaugural Championship Season ... belted three home runs with nine runs batted in
- Member of Team USA from 2012-15 along with Team USA Women's Elite Team in 2016 ... hit eight home runs and drove in 31 runs over four seasons
- First All-America selection in Loyola Marymount history, claiming Second-Team honors as a senior ... hit 65 career home runs with 172 runs batted in

#54 · HAYLEY BUSBY · CORNER INFIELD · 5-7 · R/R · OKLAHOMA STATE



SEASO	N HIGHS	
Н		
R		
HR		
RBI		
BB		
SB		

NOTEWORTHY

- Three-year letter winner at Oklahoma State after starting college career at Virginia ... fashioned .321 batting average over 241 career games between the two schools
- NFCA Third-Team All-America selection as a senior after leading Oklahoma State with 19 home runs and school-record .794 slugging percentage
- Led Oklahoma State to 2021 NCAA Women's College World Series berth
- Father, Mike, played four seasons for the St. Louis Cardinals from 1996-99

#55 · ALYSEN FEBREY · CORNER INFIELD · 5-8 · L/L · OKLAHOMA STATE



SEASON	I HIGHS	
Н		
R		
HR		
RBI		
BB		-
SB		_

NOTEWORTHY

- Spent 2020 and 2021 campaigns at Oklahoma State after three seasons at Georgia ... appeared in 247 total games with 246 starts
- Owns Oklahoma State record with .826 career slugging percentage ... also ranks fourth on career list with .395 batting average
- Led Oklahoma State to pair of NCAA Women's College World Series berths
- Member of Team Canada who played in all five contests at The 2022 World Games this summer ... drove in two runs against Italy

#68 · COURTNEY GANO · CORNER INFIELD · 5-9 · R/R · WASHINGTON



SEASON HIGHS			
Н			-
R			-
HR			_
RBI			-
BB			-
SB			-

- Belted game-winning grand slam in 10th inning in AUX finale on June 25
- Made Athletes Unlimited debut during 2021 Championship Season, compiling 914 leaderboard points ... started 11-of-14 games and tallied six hits
- Opened professional career in Italy in 2017 with Forli, hitting .540 in 18 games ... also spent 2018 season with Chicago Bandits of NPF, authoring .384 average
- Five-year letter winner at Washington who appeared in 163 games from 2012-16
- Hit .298 with 24 home runs and 102 runs batted in with the Huskies



#70 · ANDREA FILLER · MIDDLE INFIELD · 5-10 · R/R · NORTHWESTERN



SEASO	SEASON HIGHS		
Н			
R			
HR			
RBI			
BB			
CD			

NOTEWORTHY

- Made Athletes Unlimited debut during 2022 AUX season ... placed seventh on leaderboard with 1.240 points while starting all 12 games
- Competed for Team Italy during 2020 Tokyo Olympics, batting .231 in five games with three hits ... also posted perfect fielding percentage with 14 assists and eight putouts
- Led Italian National Team to 2021 European Championship and hit .526
- Spent three seasons at Northwestern after transferring from Boston College

#72 · RYLEE BAYLESS · OUTFIELD · 5-3 · L/R · OKLAHOMA STATE



SEASON HIGHS			
Н			
R			
HR			
RBI			-
BB			
SB			

NOTEWORTHY

- Played three seasons at Oklahoma State after transferring from Northeastern Oklahoma ... compiled .321 batting average while starting 130 games
- Two-time NFCA All-Region pick with the Cowgirls, including First-Team honors as a redshirt senior ... led Oklahoma State to NCAA Women's College World Series berth in 2019
- · Led NCAA Division I with school-record 71 walks during 2018 campaign
- · Two-time NJCAA Player of the Year honoree at Northeastern Oklahoma

#75 · AUBREY LEACH · MIDDLE INFIELD · 5-4 · L/R · TENNESSEE



SEASON HIGHS		
Н		-
R		
HR		-
RBI		
BB		-
SB		

NOTEWORTHY

- Returns to Athletes Unlimited after not playing during 2021 campaign ... finished inaugural campaign with 1,430 leaderboard points to rank 17th in the league
- Four-year letter winner at Tennessee who started 240 games from 2016-19 ... one of 12 players in program history with multiple NFCA All-America commendations
- Authored .385 career batting average with six home runs and 88 runs batted in ... scored school-record 255 runs
- NFCA All-America First Team pick in 2018 after scoring school-record 80 runs

#88 · NADIA TAYLOR · CORNER INFIELD · 5-8 · R/R · TEXAS



N HIGHS	
	-
	-
	-
	-

NOTEWORTHY

- Competing in third Athletes Unlimited campaign after earning 2,274 points in first two Championship Seasons ... hit .273 during inaugural campaign over 15 games
- Two-time All-NPF selection who earned Jennie Finch Award in 2018
- Four-time NFCA All-Region performer at Texas, including First-Team notice as a freshman, sophomore and junior ... also earned All-Big 12 honors four times
- Ranks 4th in Texas history with 234 career games played ... also stands second with 234 career starts

#96 · SIS BATES · MIDDLE INFIELD · 5-4 · L/R · WASHINGTON



SEASON HIGHS		
Н		
R		-
HR		-
RBI		-
BB		
SB		-

- 2022 GEICO AUX Softball Defensive MVP who accrued 658 leaderboard points
- Finished ninth in 2021 AU Championship Season leaderboard with 1,468 points ... also tied for second in the league with 1,190 win points
- Hit .326 while starting all 15 games last summer ... registered 14 hits, including six for extra bases ... tied for league lead with five doubles
- Fashioned .385 batting average in 261 career games at Washington from 2017-21 ... three-time Pac-12 Defensive Player of the Year recipient



#00 · RACHEL GARCIA · 5-6 · R/R · UCLA



SEASON HIGHS		
IP		 _
Н		-
R		
ER		-
BB		
K		-

NOTEWORTHY

- Finished in second place on the 2022 AUX leaderboard with 1,422 points
- Member of Team USA at 2020 Tokyo Olympics
- Authored 99-17 record in the circle for UCLA from 2017-21
- Led Bruins to 2019 NCAA Women's College World Series title, earning Most Outstanding Player honors
- Three-time recipient of Honda Award for Softball (2018, 2019, 2021)
- · 2018 & 2019 USA Softball Collegiate Player of the Year

#3 · DANIELLE O'TOOLE · 5-8 · R/L · ARIZONA



SEASON HIGHS		
IP		<u></u>
Н		
R		
ER		
BB		
K		

NOTEWORTHY

- 2022 AUX Softball Champion who compiled 1,436 leaderboard points
- Owns 4.78 ERA over 23 career outings in AU Championship Season play ... has tallied 59 strikeouts over 85.0 innings in 2020 & 2021
- Member of Team Mexico at 2020 Tokyo Olympics ... posted 1.24 ERA in three appearances with seven strikeouts
- 8th in Arizona history with 1.69 career ERA ... also stands 10th on career list with 402 career strikeouts over two seasons

#8 · ALESHIA OCASIO · 5-9 · L/R · FLORIDA



SEASON HIGHS		
IP		
Н		
R		-
ER		
BB		
K		-

NOTEWORTHY

- · Compiled 740 leaderboard points during AUX season earlier this summer
- Claimed individual championship during 2021 AU Championship Season ... led league with 2,096 leaderboard points
- Member of 2021 Athletes Unlimited All-Defensive Team
- Has played for Puerto Rico National Team since 2013
- Fashioned 71-14 career record at Florida with 10 saves ... ranks 9th in UF history with 19 career shutouts

#17 · HAYLIE WAGNER · 5-7 · R/L · MICHIGAN



N HIGHS	
	<u></u>
	-

NOTEWORTHY

- Earned 17th place on AUX Softball leaderboard with 1,024 points
- Two-year veteran in AU Championship Season play who finished 10th on 2020 leaderboard with 1,662 points
- Tallied 100 wins during college career at Michigan with 1.82 ERA
- Two-time NFCA All-America selection, including Second-Team honors in junior season ... also claimed All-Region notice three times
- 2012 Big Ten Conference Pitcher and Freshman of the Year

#22 · ODICCI ALEXANDER · 5-7 · R/R · JAMES MADISON



I HIGHS	
	-

NOTEWORTHY

- Finished 22nd on 2021 Championship Season leaderboard with 1,300 points ... also tied for ninth in the league with 1,050 win points
- Five-year letter winner at James Madison who started 207-of-208 games from 2017-21 ... ranks third in school history with 139 appearances in the circle, including 102 starts
- Led Dukes to 2021 NCAA Women's College World Series as a redshirt senior, earning a spot on All-Tournament Team

#31 · MAGGIE BALINT · 5-8 · R/R · SAN DIEGO STATE



SEASO	SEASON HIGHS			
IIP	-			
Н				
R	-			
ER	-			
BB	-			
K	-			

- Finished 22nd on AUX leaderboard with 860 points while making pro debut
- One of 13 players selected in 2022 Athletes Unlimited College Draft
- Posted 1.99 ERA over three seasons at San Diego State after transferring from Oregon ... ranks 9th at SDSU with 43 career victories
- Holds 6th place in Aztecs' history with 13 shutouts and 504 strikeouts
- 2022 Mountain West Pitcher of the Year after earning 2.12 ERA over 41 outings ... also earned First-Team NFCA All-Region distinction



#40 · ALYSSA DENHAM · 6-1 · R/R · ARIZONA



SEASON HIGHS				
IP		-		
Н		_		
R				
ER				
BB		_		
K				

NOTEWORTHY

- Accumulated 638 leaderboard points during 2022 AUX season
- Posted 1.92 career ERA in four seasons at Arizona after transferring from Louisiana ... ranks 9th on Wildcats' career ERA list
- Third-Team NFCA All-America pitcher as a fifth-year senior ... garnered 19-8 record with 1.95 ERA and seven shutouts in 2021
- Two-time Third-Team All-Pac-12 performer who pitched three no-hitters
- · Currently works as an assistant coach at McNeese State

#44 · CARRIE EBERLE · 6-0 · R/R · OKLAHOMA STATE



SEASON HIGHS				
IP				
Н				
R				
ER				
BB				
K				

NOTEWORTHY

- Tallied 742 leaderboard points during 2022 AUX Softball season
- 2021 AU Championship Season Rookie of the Year who finished fourth on the leaderboard with 1,592 points
- Tied for league lead with 13 appearances in 2021 ... posted 3-2 record with 3.16 ERA and two complete games in 51.0 innings
- Played three seasons at Virginia Tech before finishing college career at Oklahoma State ... went 36-5 at OSU with 224 strikeouts and 1.13 ERA

#49 · DANIELLE WATSON · 5-8 · R/R · FLORIDA STATE



SEASO	SEASON HIGHS			
IP				
Н	-			
R	-			
ER	-			
BB	-			
K				

NOTEWORTHY

- Spent final two years of college career at Florida State after starting at Louisville ... sat out 2020 campaign due to Atlantic Coast Conference transfer rules
- Authored 55-31 career record with 3.05 earned run average ... also tallied 514 strikeouts over 518.2 innings
- Third-Team All-ACC performer as a fifth-year senior with the Seminoles who posted 2.34 earned run average over 134.2 innings
- Led Florida State to 2021 NCAA Women's College World Series berth

#50 · PEYTON ST. GEORGE · 5-10 · R/R · DUKE



SEASO	N HIGHS	
IP		<u></u>
Н	-	<u></u>
R		
ER		
ВВ	-	<u></u>
K		

NOTEWORTHY

- One of 13 players selected in 2022 Athletes Unlimited Softball College Draft
- Five-year letter winner at Duke who made school-record 152 appearances from 2018-22 ... poated 2.14 earned run average with 641 strikeouts over 566.0 innings
 Finished college career with 66-25 record along with Duke-record 13 saves
- Three-time All-Atlantic Coast Conference performer who earned First Team recognition in 2021 and 2022
- Set Duke single-game record with 15 strikeouts against NC State on Mar. 11, 2022

#60 · MARIAH MAZON · 5-10 · R/R · OREGON STATE



SEASO	N HIGHS	
IP		
Н		
R		-
ER		
BB		-
K		-

NOTEWORTHY

- Signed to Athletes Unlimited contract during AUX Season on June 18
- Oregon State's all-time leader with 861 career strikeouts ... posted 200 or more strikeouts in each of her final two seasons
- Led Beavers to Women's College World Series appearance in 2022 ... Third-Team NFCA All-America performer who fashioned 17-10 record with 220 strikeouts
 Also boasted .327 career batting average with 21 home runs and 82 RBI
- Four-time All-Pac-12 selection, including back-to-back First Team commendations

#66 · SHANNON SAILE · 5-7 · R/R · OKLAHOMA



SEASON	SEASON HIGHS				
IP			-		
Н			-		
R					
ER			-		
BB			_		
K					

- Played three seasons at Oklahoma after beginning career at Florida International
 ... fashioned 1.62 earned run average with 71-27 record and 16 saves in career
- Ranked second in NCAA Division I during 2020 COVID-shortened season with five saves ... finished Oklahoma career with 11 saves, good for second place in program history
- Two-time All-Big 12 Conference selection, including First Team honors as a redshirt senior



#71 · SARA GROENEWEGEN · 5-8 · R/R · MINNESOTA



SEASO	SEASON HIGHS				
IP					
Н					
R		-			
ER					
BB					
K		-			

NOTEWORTHY

- Accumulated 1,032 leaderboard points during first Athletes Unlimited season in 2021 ... tied for the league lead with 13 appearances in the circle
- Four-year letter winner for Minnesota who appeared in 233 games from 2014-17
 ... first player in school history to earn NFCA All-America honors three times
- Two-time Big Ten Conference Pitcher of the Year who fashioned 107-21 record with 1.58 earned run average and eight saves
- Member of Canadian National Team since 2013 when she was 17 years old

#77 · SYDNEY LITTLEJOHN WATKINS · 6-1 · R/R · ALABAMA



SEASON HIGHS			
IP			
Н			
R			
ER			
BB			
K			

NOTEWORTHY

- Finished ninth in AUX Softball leaderboard with 1,178 leaderboard points
- Made 129 appearances at Alabama from 2014-17 ... tied for 6th on career list with 67 victories
- Only pitcher in school history with multiple perfect games, including first perfect game in Rhodes Stadium history
- Second-Team NFCA All-America honoree during junior season
- Currently works at University of Florida as a registered dietitian

#81 · GRETA CECCHETTI · 6-0 · R/R · TEXAS A&M-CORPUS CHRISTI



SEASON HIGHS			
IP			
Н			
R			
ER			
BB			
K			

NOTEWORTHY

- Played two seasons at Texas A&M-Corpus Christi after starting college career at Polk State College ... tied for seventh on Islanders' career list with 19 victories
- Ranks second on Texas A&M-Corpus Christi all-time list with 1.81 ERA
- One of seven pitchers in school history with 200 or more career strikeouts
- Member of Team Italy at 2020 Tokyo Olympics ... registered eight strikeouts over 18.1 innings
- Owns Italian Softball League record with 1,988 strikeouts from 2004-21

#82 · TAYLOR MCQUILLIN · 5-8 · L/L · ARIZONA



	SEASON HI	GHS	
	IP		
	Н	-	-
à	R		-
P	ER		-
3	BB	-	-
	K		

- Compiled 962 leaderboard points during 2021 Championship Season ... tied for ninth in the league with 120 MVP points
- Tallied 784 leaderboard points while making 12 appearances in inaugural season
- Four-year letter winner at Arizona who made 134 appearances from 2016-19
- Four-time All-Pac-12 Conference pick who registered 815 strikeouts
- Helped Team Mexico qualify for the 2020 Tokyo Olympics ... made one appearance in tournament against Team Canada with two strikeouts



2022 ATHLETES UNLIMITED SOFTBALL RADIO/TV ROSTER





















































































































